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1 November 5, 2014 1 thismorning is Mr. William or Bill Vulcan,
2 (9:41am.) 2 (phonetic)--is an actuary from Millimans who
3 CHAIRMAN: 3 has been providing guidance and helping--
4 Q. Well, good morning, everybody. I'll call this 4 assisting us inour understanding of the
5 hearing to order. Thisisa public hearing 5 technical mattersthat are inherent in these
6 into an Application by Facility Association 6 types of applications.
7 under the Automobile Insurance Act for new 7 CHAIRMAN:
8 ratesfor its taxi and limousine class of 8 Q. Okay. Well, we'll be having our transcripts
9 business. My name is Andy Wells, I'm 9 done by Discoveries Unlimited, and they will
10 Chairman. On my left is our Vice-Chairman, 10 be available of curse as soon aswe possibly
1 and on my right are our two other 1 came make them available. Andrew Davisisthe
12 commissioners, Vice-Chairman--I'm having a 12 Board's Computer and Regulatory Support
13 senior'smoment. | am. I'mlosing my mind. 13 Technician, and of course he will be assisting
14 COMMISSIONER WHALEN: 14 us--he'sover there onthe right--my right,
15 Q. Darlene. 15 your left--with our electronic filing. Now
16 CHAIRMAN: 16 our sitting hours | think we've decided are
17 Q. DarleneWhaen. What'swrong with me? And 17 goingto be 9:00to 11:00, although we're
18 Commissioners Oxford and Newman. Jacqui Glynn 18 starting somewhat late today, and 11:30 to
19 is Board counsel and she'll be speaking 19 11:30 with a 30-minute break. | think there's
20 momentarily. Cheryl Blundon is our Director 20 going to be some changesfor tomorrow, Mr.
21 of Corporate Services and Board Secretary and 21 Stamp, to accommodate you and | think our
22 sheis-oh, she isthere, okay, and we have 22 solicitor Jacqui Glynn will make reference to
23 with us also, Ryan Oake, our Regulatory 23 that now shortly. Actualy, she'll do it
24 Analyst, and Robert Byrneis at the back, our 24 right now because I’ m going to turn it over to
25 Director of Regulatory and Advisory Services, 25 him. 1 think I've finished my opening
Page 2 Page 4
1 and we have our Board actuary PaulaElliott 1 remarks.
2 with Oliver Wyman. I'll now ask the parties 2 MS. GLYNN:
3 to introduce themselves, and | hope they 3 Q. Thank you, Mr. Chairperson. Good morning to
4 haven't forgotten their names. So, who goes 4 the panel and everybody else who hasjoined us
5 first? | guessthe Applicant. 5 here this morning. On March 6th, 2014, the
6 STAMP, Q.C.: 6 Board received a rate application from
7 Q. Good morning, Mr. Chairman, Commissioners, I'm 7 Facility Association for it's taxi and
8 Kevin Stamp and with me is Jennifer Newbury. 8 limousine class of business. Notice of this
9 WEe're both with the law firm Martin, Whalen, 9 application was published in newspapers
10 Hennebury, Stamp, and sitting behind me are 10 throughout the province starting on March
11 Shawn Doherty of Facility Association, and 11 26th, 2014. On July 7th, 2014, notice that
12 Cosimo Pantaleo, he's with Ernst & Young. 12 the application would proceed viaway of an
13 Both Mr. Doherty and Mr. Pantaleo have 13 oral hearing, a public hearing, was published
14 significant experience in the insurance 14 and on October 9th, 2014, notice of today’s
15 industry. Each are fellows of the--or each is 15 hearing date was published. The Board
16 a fellow of the Canadian Institute of 16 received notice that the Consumer Advocate had
17 Actuaries, and both are members of the 17 been appointed on April 23rd, 2014. We have
18 Casualty Actuarial Society. Of course, we'll 18 received two requests to make an oral
19 be hearing from Mr. Doherty momentarily when 19 presentation. Todd Edmunds from Star Taxi and
20 he commences his evidence. 20 Doug McCarthy from the former Co-op Taxi.
21 MR. JOHNSON: 21 These presentations will immediately follow
22 Q. Good morning, Mr. Chairman. I’'m the Consumer 22 any opening statements from the Applicant and
23 Advocate in these proceedings, Tom Johnson and 23 the Consumer Advocate. These will not be
24 with meis my colleague Tom Williams, alawvyer 24 sworn withesses and there will no cross-
25 with whom | practise. Also appearing with me 25 examination of thesewitnesses. The one
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1 remaining deadline is November 12th, 2014, and 1 Q. Okay.
2 thisis the date that any member of the public 2 MR. JOHNSON:
3 may submit aletter of comment. Asthe Chair 3 Q. The Consumer Advocate has concerns about the
4 aluded to, our normal sitting hours are from 4 application of Facility Association, coming as
5 9:00 to 1:30 with a half-hour break. Tomorrow 5 it does on the heels of an application made by
6 our sitting hours will be from 11:00 to 2:45. 6 Facility last year which did result in alarge
7 The transcript will be delayed tomorrow 7 increaseto taxi operators operating inthe
8 because of the later sitting hours. Counsel 8 Province of Newfoundland and Labrador. We
9 has agreed to the filing of some documents for 9 believe that Facility’s rate proposal in fact
10 information, and we will enter them onto the 10 has not been justified, and we note in that
11 record as the evidenceis presented. The 11 regard that the Board' s consulting actuaries,
12 application has been properly filed, and there 12 Oliver Wyman, have exhaustively examined the
13 are no further preliminary mattersthat | have 13 FA proposal, as well asthe experience, and
14 been made awareof. The Board isable to 14 have concluded that FA’'s 56.7 percent overall
15 commence hearing of this application. 15 rate level change to behigher than they
16 CHAIRMAN: 16 calculate based on assumptions they find to be
17 Q. So Mr. Stamp, | think it’ s your application, 17 reasonable and the Board's guidelines. With
18 sir, so the matter now isin your hands. 18 that brief opening statement, let me say that
19 STAMP, Q.C.: 19 we look forward to participating in the
20 Q. Thank you, Mr. Chairman. | don't intendto 20 application’sreview as efficiently and as
21 make any significant opening statement, Mr. 21 effectively as possible. Thank you.
22 Chairman, Commissioners. We'll have the 22 STAMP,Q.C.:
23 information that we're going to present come 23 Q.| think there are going to be some statements
24 through Mr. Doherty, the actuarial expert who 24 from some of the -
25 has provided the report, but | just would 25 MS. GLYNN:
Page 6 Page 8
1 initially make this comment, that thisrate 1 Q.Yes
2 application, in our view, isdriven strictly 2 CHAIRMAN:
3 by experience. There is, as you know, no 3 Q. Pardon?
4 profit component for Facility or for the 4 MS. GLYNN:
5 underlying insurers. Thereis no cost of 5 Q. Weve discussed the order of the
6 capital recovery for Facility or the 6 presentations, and Mr. McCarthy has graciously
7 underlying insurers. So again, the 7 agreed to give his presentation first.
8 application is driven strictly by the 8 CHAIRMAN:
9 experience that has been demonstrated in the 9 Q.Oh, okay. Mr. McCarthy, sir. Come forward.
10 documentation. Sowe'll put that experience 10 So we got one or two?
11 before the Board for itsconsideration in 11 MS.GLYNN:
12 deliberations. 12 Q. Wehavetwo.
13 CHAIRMAN: 13 CHAIRMAN:
14 Q. Okay, sir. So you're going to call your - 14 Q. Two? Okay.
15 MS. GLYNN: 15 MS. GLYNN:
16 Q. No. 16 Q. Mr. McCarthy and Mr.--
17 STAMP, Q.C.: 17 CHAIRMAN:
18 Q. Unless somebody else has aremark. 18 Q. Haveasesat here, sir.
19 CHAIRMAN: 19 MS. GLYNN:
20 Q. Oh, isthere any other--are there any other-- 20 Q.- Edmunds?
21 I’m sorry? 21 MR. MCCARTHY:
22 MR. JOHNSON: 22 Q. Good morning, Mr. Commissioner, panel. Ladies
23 Q. Yes. Mr. Chairman, I'll just be very brief, 23 and gentlemen, thank you very much. Bear with
24 aswell. 24 me, | have the flu, not Ebola.
25 CHAIRMAN: 25 CHAIRMAN:
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1 Q.B’y,don't say that around here, you're liable 1 whatever the claimant is asking without doing

2 to get arrested. 2 any investigative work, as people have the

3 MR. MCCARTHY: 3 attitude, well, it’sonly a taxi company and

4 Q. My name isDouglas McCarthy. Until Sunday 4 they have lots of insurance. What they fail

5 evening, | was the General Manager and 5 torealizeisthat’ sit’ s the consumer of our

6 Treasurer for Co-op Taxi herein St. John's, a 6 service, that the more it costs the owners to

7 company that wasin businessfor 25 years. 7 operate, the more the consumer will haveto

8 Unfortunately, we had to close our doors, and 8 pay. Accident benefits, 294.3 percent, this

9 having said that, I'm till ataxi operator, 9 increase istotally unbelievable. Y ou cannot
10 I'mstill representing the majority of the 10 justify an increase of over 300 percent in
11 industry here within the City of St. John's as 11 just oneyear. Once again, oh, it'sonly the
12 their spokesperson. The application for 12 taxi industry. It would seem like thisisthe
13 Facility Association Limousine and Taxi 13 underlying train of thought: hit them as hard
14 Association rates. The proposed rate increase 14 asyou can, and hit them again. Uninsured
15 by Facility Association for the taxi and 15 automobile, 429.3 percent in just over one
16 limousineindustry herein the province, if 16 year. |, asan operator, am required by law
17 approved will have a drasticimpact on the 17 to carry adequate insurance to operate my
18 overal industry, as well as the entire 18 vehicle, as isevery other taxi in this
19 economy of the province. In August of 2013, 19 province. The minute | cancel my policy, the
20 this Commission approved arate increase of 50 20 insurance company must notify City Hall that
21 percent for third liability, a100 percent 21 my policy has been cancelled. City Hall will
22 increase in accident benefits and a 100 22 then inform the stand operator, who must
23 increasein the uninsured automobile. This 23 withdraw that vehicle from service until such
24 increase cameas a complete shock to the 24 timeit'sproved to the City that the stand
25 industry, as we had no notification of the 25 operator once again is covered by insurance.

Page 10 Page 12

1 application for a rateincrease. We only 1 However, if you listento any local radio or

2 became aware of the rate increase upon renewal 2 TV channel, thereisrarely aday goes by that

3 of ourinsurance premium. To many, this 3 someone would be arrested for driving with no

4 increase was enough to force some margina 4 insurance, registration or license, then only

5 operators to retire from the industry. This 5 to find out the outstanding finds total tens

6 year once again Facility hasrequested an 6 of thousand of dollars. This has nothing to

7 additional increase of 50 percent for PLPD, a 7 do with the taxi industry. We areinsured.

8 294.3 percent increase in the accident 8 This is an enforcement issue. If the

9 benefits and a whopping increase of 329. 3 9 insurance companies are having a problem with
10 percent for the uninsured automabile. | had 10 uninsured drivers, then they should be going
11 many objectionsto the proposed increase for 11 after the government and have them do the job
12 various, different categories. PLPD 50 12 that they are supposed to be doing. If | sell
13 percent, once again, on top of the 50 percent 13 my vehicleto someone, then it should be my
14 from the previous increase, will total 14 responsibility to remove the plate from the
15 approximately 125 percent in just one year 15 vehicle after 1--because after all, | paid for
16 from therates effective July 31st, 2013. 16 the plate, not the car. The plate ismine,
17 This| find hard to believe, that in two years 17 thereforeit should be my responsibility--
18 the cost of settling a claim has increased by 18 therefore it should be the responsibility of
19 125 percent. To me, thiswould indicate that 19 the new owner to acquire the appropriate plate
20 what cost $1,000.00 to repair in July, 2013 20 for the vehicle. In this manner, the Province
21 now costs $2,250.00, or that a soft-tissue 21 will be ableto control who can operate a
22 injury of the same $1000.00 now costs 22 vehicle on the road, also make it the
23 $2,250.00. What isdriving up these costs? 23 responsibility of theinsurance industry to
24 Certainly not inflation. Perhapsin their 24 notify a Motor Vehicle branch if someone
25 haste to settle claims, Facility is paying out 25 cancelstheir insurance and fails to insure
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1 with another company, seize the vehicle, if 1 passed on. However, Facility has failed to

2 necessary, until such time as the vehicleis 2 cover their losses in the past and now they

3 properly insured. Our industry should not be 3 seem to want to play catch up at our expense.

4 the scapegoat for the Province and insurance 4 If it is because of amanagement issue, then

5 industry not doing their jobs correctly. The 5 Facility should get their own house in order

6 taxi industry isavery volatile industry. We 6 beforethey burden the industry with rates

7 are subject to the whims of every gas company, 7 that may force many of usfrom the business

8 asare al consumers, however, we use more 8 and have an overall impact on the provincial

9 fuel than the average driver will in five 9 economy. Thank you very much.

10 years. We already pay higher insurance rates 10 CHAIRMAN:
11 than the average driver. As with al 11 Q. Thank you, sir. Do we have a second
12 consumers, we are faced with the same increase 12 presenter?
13 in the consumer index as they. Two years ago, 13 MS. GLYNN:
14 | needed to make $78.00 every day just to 14 Q. Yes, wedo. Todd Edmunds from Star Taxi.
15 cover my expenses. Then last year, | had to 15 MR. EDMUNDS:
16 make $98.00 every day just to cover my costs. 16 Q. Good morning. My nameis Todd Edmunds, and |
17 With the proposed increase, my insurance rate 17 represent Star Taxi in Corner Brook,
18 will cost me nearly $5000.00 ayear. This 18 Newfoundland. | would like to take a moment
19 will drive up my daily requirement to nearly 19 to encourage the Board to take a good look at
20 $125.00 aday beforel put five cents in my 20 -
21 pocket. At thisrate, | will not put a second 21 CHAIRMAN:
22 vehicleontheroad. Yes, | realizethat we 22 Q. Justonesecond. Can everybody hear him at
23 are ahigh-risk business. Even Stats Canada 23 the back? Perhaps, sir, you could just speak
24 saysthat as ataxi operator, we are ranked in 24 alittle bit louder so everybody can hear you
25 thetop five high-risk stress occupations. 25 in the room?
Page 14 Page 16

1 However, my insurance rates should be based on 1 MR. EDMUNDS:

2 me, theindividual, and not what | do for a 2 Q. l would like to encourage the Board to take a

3 living. If I drivefor 25 years without an 3 look at the Facilities application before

4 accident or a clam, | will still be 4 making adecision. Last year, theincrease

5 classified as high risk because what | do and 5 drove the costs for my cars from $1206.00 per

6 not who | am. Is thisnot another form of 6 car to $3,021.00 per car. In that case, | had

7 discrimination? If thisincrease isimproved, 7 to remove seven carsfrom my fleet and three

8 it will have a drastic impact on the entire of 8 independent carsalso removed their cars.

9 the economy of the province, for it will drive 9 That makes it harder for my business to
10 those marginal operators out of business, 10 operate. Another increase would even be
11 thereby reducing the amount of vehicles 11 greater to our business becausethere are
12 availableto provide serviceto the public. 12 talks that other independent drivers are
13 In some areas, weare the only source of 13 removing their cars. One of the biggest
14 public transportation. This increase would, 14 problemsthat | have with the increases and
15 if approved, force many of these operators out 15 that is when we make a claim, we can’t get no
16 of business. It will have an impact on other 16 oneto return a phone call or an adjuster to
17 areas of the economy aswell. With fewer 17 look at the claim. They just tell methat it's
18 vehicles available for use, it will have a 18 cheaper for themto pay theclaim off then
19 negative impact on the entertainment industry, 19 investigate. | wonder if they would do more
20 as more individuals will opt not to go out for 20 investigations on the claims and that may keep
21 the evening, or it will have an even greater 21 their costs down. I'm not a very good
22 impact on public, what with the possibility of 22 speaker.

23 even more impaired drivers on the road putting 23 CHAIRMAN:
24 the public at risk. Yes, | redlize that as 24 Q. Oh, that'sfine. Take your time, sir.
25 thingsincrease in cost, costs haveto be 25 MR. EDMUNDS:
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1 Q. Firsttime ever, right? 1 Does it matter?

2 CHAIRMAN: 2 STAMP,Q.C.:

3 Q. Youredoing fine. 3 Q. I'll let Mr. Doherty answer that when he gets

4 (10:00 am.) 4 to the mic. Mr. Doherty, the choice is yours

5 MS. GLYNN: 5 asto whether you will be swearing on the

6 Q. You'redoing fantastic. 6 Bible or take asolemn declaration. Do you

7 MR. EDMUNDS: 7 have any preference?

8 Q.In myclosing remarks, our expenses keeps 8 MR. DOHERTY:

9 going up and we got no way to get our money 9 Q. I'll take asolemn declaration.

10 back, so | don’t know, it’s probably going to 10 MR.SHAWN DOHERTY (AFFIRMED), EXAMINATION-IN-CHIEF BY
11 be--put us out of business, too, you know? 11 KEVIN STAMP, Q.C.
12 CHAIRMAN: 12 STAMP,Q.C.:
13 Q. Soyou said $1,200.00to $3,000.00in one 13 Q. Mr. Chairman, Commissioners, there's been
14 year? 14 discussion before today on the issue of Mr.
15 MR. EDMUNDS: 15 Doherty and of course, Ms. Elliott being
16 Q. When| first bought the taxi stand, | paid 16 declared experts and there’ s no objections, as
17 $1,206.00 acar. The last increase, my cars 17 | understand it, on anybody’s part in that
18 went from $1,206.00 to $3,221.00 acar. 18 regard, but | will have Mr. Doherty speak
19 CHAIRMAN: 19 briefly to his credentials. Mr. Doherty,
20 Q. Okay. 20 first of dl, if you could tell usyour full
21 MR. EDMUNDS: 21 name and your address, please?
22 Q.Andif youlook at another increase, well, 22 MR.DOHERTY:
23 that’s going to, you know, put usout of 23 A. Shawn Francis Doherty. | live at 4801 Vivian
24 business, that’s all | can say. 24 Road in Cedar Valley, Ontario.
25 COMMISSIONER WHALEN: 25 STAMP,Q.C.:
Page 18 Page 20

1 Q. How long have you had your - 1 Q. Andwhere are you employed, Mr. Doherty?

2 MR. EDMUNDS: 2 MR.DOHERTY:

3 Q. Threeyears. 3 A.I'm currently employed with the Facility

4 COMMISSIONER WHALEN: 4 Association.

5 Q. Threeyears? 5 STAMP, Q.C.:

6 MR. EDMUNDS: 6 Q. And what isthe nature of your employment with

7 Q. Yeah. 7 Facility?

8 CHAIRMAN: 8 MR.DOHERTY:

9 Q. Okay. Thank you very much. 9 A. Mytitleis Senior Vice President of Actuarial
10 MR. EDMUNDS: 10 Services, and the Chief Financial Officer.
11 Q. Okay, thank you. 11 I’'m responsible -

12 CHAIRMAN: 12 STAMP, Q.C.:

13 Q. So Mr. Stamp, | guess now finally it’'s back to 13 Q. Canyou--I'm sorry.

14 you? | wantto thank both of those--thank 14 MR. DOHERTY:

15 you, gentlemen, for that presentation, by the 15  A. Sorry. I'mresponsible for both provision of
16 way. It was much appreciated, and of course, 16 actuarial services, the management of external
17 you understand it will form part of the public 17 actuarial services, and I’'m responsible for
18 record. Okay, Sir. 18 accounting and finance.

19 STAMP, Q.C.: 19 STAMP, Q.C.:

20 Q. Thank you, Mr. Chairman. Mr. Doherty isready |20 Q. Can you speak, Mr. Doherty, to your--you know,
21 to take the stand and present the material 21 your education and training in terms of--as an
22 that we need to present. 22 actuary?

23 MS. GLYNN: 23 MR. DOHERTY:

24 Q. Mr. Stamp, we didn't query whether your 24 A.Certainly. | have aBachelor of Science from
25 witnesses would like to be sworn or affirmed. 25 the University of Toronto. I'ma fellow in
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1 good standing of the Canadian Institute of 1 A That's correct.
2 Actuaries and the Casualty Actuarial Society. 2 STAMP,Q.C.:
3 | have approximately 25 years of experiencein 3  Q Allright. Now I just wantto briefly have
4 the actuarial profession. | started off 4 you speak totheissue of thedata that is
5 working on pricing exclusively for the first 5 used for purposes of preparing your report.
6 five years of my tenure. After that, | worked 6 There is a section on that at Page 432. Could
7 at various organizations where the primary 7 you just speak briefly to the data component
8 responsibility was to either start an 8 that is relied upon?
9 actuarial services part with the organization 9 MR. DOHERTY:
10 or to reorganize one that was already 10 A. Sorry, we want to go to page -
11 existing. With the Facility Association, | 11 STAMP, Q.C.:
12 joined in December of 2010 with theinitial 12 Q. 4 oF 32 of the Memorandum and to the heading--
13 charge of bring the actuarial services that 13 the data.
14 were current--at that time, were all 14 MS. GLYNN:
15 outsourced--to bring them inside and to 15 Q. Mr. Stamp, we're trying to bring them up on
16 promote what we call a hybrid actuarial model 16 this screen, so if you -
17 where some services are performed internally 17 STAMP, Q.C.:
18 with the Facility Association and some are 18 Q. Oh, I'msorry. Yes, okay.
19 provided by an external party. 19 MS. GLYNN:
20 STAMP,Q.C.: 20 Q.Andwe'djust liketo confirm that that’ s the
21 Q. Those are al my questions with respect to Mr. 21 page that we're looking for, please?
22 Doherty’s training and experience, Mr. 22 STAMP, Q.C.:
23 Chairman. | would ask that he be declared an 23 Q. Oh, my. | need better glasses than this, Mr.
24 expert inactuarial science related to, | 24 Chairman.
25 guess, topics for the purposes of the 25 MR. DOHERTY:
Page 22 Page 24
1 presentation of the Actuary Report to the 1 A.lthink it'sPage 40. You'relooking for
2 Board. 2 exhibit -
3 CHAIRMAN: 3 STAMP, Q.C.:
4 Q. Absolutely. 4 Q.40f 32
5 STAMP, Q.C.: 5 MR. DOHERTY:
6 Q. Thank you. Allright. Mr. Doherty, if we 6 A.40f 32?
7 turnfirst of all to your--start just with 7 MS. GLYNN:
8 your Actuarial Memorandum. Canyou turnto 8 Q. Of which section, Mr. Stamp?
9 that, please? 9 STAMP, Q.C.:
10 MR. DOHERTY: 10 Q. .2(a) 2.1. It'sinthevery early part of the
11 A. Absolutely, and | will confirm that | prepared 11 report, Mr. Doherty, and it follows--after the
12 the indications of the Newfoundland taxis on 12 Actuary’ s Report, there'sa heading on "Data
13 behalf of the Facility Association, and | 13 and Methodologies' and then there' s afurther
14 completed those indications in compliance with 14 section on data. And | believe the next page
15 the Canadian Institute of Actuaries’ standards 15 will be the page I'm looking for--yes
16 of practise--all of the standards of practise, 16 MR. DOHERTY:
17 but in particular Section 2600, which ison 17 A. So Data and Methodologies, Section 2(a) 2?
18 rate making for property casualty insurance. 18 STAMP, Q.C.:
19 STAMP, Q.C.: 19 Q. No. Theonebeow it.
20 Q. All right, then, and sothe Section 2(a) 20 MR. DOHERTY:
21 report whichis at Page 3 of 32 of the 21 A.2(a) 2.1?
22 Actuarial Memorandum. Isthat your signature 22 STAMP, Q.C.:
23 and isthat the--1 guessadoption of the 23 Q.2az2l
24 report by you? 24 MR. DOHERTY:
25 MR. DOHERTY: 25 A.Yeah. So, with respect to the data that we
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1 used, we take it from several sources. The 1 it changesfrom oneyear to the next and
2 resultsthat we have from the actual taxi 2 identify any reconciling issues, and if we
3 itself, we have them as claims recorded and 3 find that there are concerns, we will raiseit
4 premiums that have been recorded and provided 4 with the IBC to get an understanding of it.
5 tous at thetime of the--available at the 5 We are fine with the data as been provided.
6 timewe completed theindication--the data 6 STAMP, Q.C.:
7 available to use at the time was as at 7 Q. All right. So with that preliminary
8 December 31st, 2012. We augment this with 8 discussion, Mr. Doherty, I’m going to ask you
9 valuation data that was prepared with respect 9 to turn to the exhibit package and in
10 to Facility Associations non-private passenger 10 particular, first of all, to Exhibit D-1.
11 data set as at June 30th, 2013. Our valuation 11 MR. DOHERTY:
12 process is updated every quarter for the 12 A.Sothat would beon Page40 of the overall
13 Facility Association business in each 13 package. The structure of this particular
14 jurisdiction and we view theresults on two 14 exhibit, along the rowsyou're going to see
15 basis. private passenger and non-private 15 that there are accident years, and each of the
16 passenger. The rationalefor that splitis 16 setsof accident yearsis split among the
17 that our members sharethe resultsof the 17 coverages. Thetop onethat we haveistotal;
18 Facility Association on the basis of 18 that is the all-coverages experience. Down
19 jurisdiction, business segment, being private 19 below, we haveit broken downinto various
20 passenger and non-private passenger, and 20 components. Thefirst one that you will see
21 accident year results, and the sharing is done 21 thereisreferred to as Third-Party Liability.
22 based on share ratios that are determined for 22 We'd put it in brackets asindivisible. That
23 each of the membersat that level of detail. 23 is the combination of bodily injury and
24 In addition to the valuation, then, as 24 property damage. Beneath that, you will see
25 identified in .2, as| mentioned already we 25 Accident Benefits. Again, werefer to it as
Page 26 Page 28
1 use the experienceof the taxis that is 1 indivisible. There are component pieces or
2 provided to us through the servicing carriers 2 kinds of loss within accident benefits:
3 providing that information to the Insurance 3 medical, disability income, death benefit,
4 Bureau of Canada, who operate as the 4 etcetera. We've grouped those all together
5 statistical agent on behalf of Gisa, whichis 5 under the one common heading of "Accident
6 the government agency in charge of gathering 6 Benefits." Below the Accident Benefits, you
7 information. The information is provided by 7 will have uninsured automobile, and then the
8 the servicing carriers to the Insurance Bureau 8 physical damage coverageswill follow after
9 of Canada through what is called Statistical 9 that. If | could -
10 Plan Nine, which is the automobile plan 10 STAMP, Q.C.:
11 specifically for Facility Association. The 11 Q. So Mr. Doherty, you're saying that the top
12 resultswere compiled as of December 31st, 12 block isthe sum of al of the coverages that
13 2012. Wedso used, asidentified as Number 13 are listed below the individual coverages?
14 3, the industry automobile insurance 14 MR. DOHERTY:
15 experience through that same basic data 15  A. That’scorrect.
16 structure, of the commercia vehicle 16 STAMP, Q.C.:
17 experience as at, also, December 31st, 2012. 17 Q. And in each of these areas, the tota
18 Our view isthat the data isreliableand is 18 coverages and theindividual coverages, you
19 sufficient for the analysis that was 19 have the years 2003 through 2012 identified?
20 completely. We did not do independent 20 MR. DOHERTY:
21 analysis or independent confirmation on 21  A. That'scorrect.
22 individual pieces, particularly of the 22 STAMP, Q.C.:
23 industry results, as we do not have access to 23 Q. Okay. Soifyou canjust wak usthrough,
24 that audited information. However, we believe 24 let’s start with the--going across the page
25 that it is appropriate and we do look at how 25 with the Earned Exposure, just explain to us
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1 what that is, please? 1 Column 1, and you'll see that the average, and
2 MR. DOHERTY: 2 thisisn't reflective of any oneindividual
3 A.Yeah. Soin Column 1, we havethe Earned 3 taxi but for the period 2012 and again, this
4 Exposure rate that’ s taken from the AIX data 4 ison anearned basis, the average premium
5 exhibit. Earned Exposure is a description of 5 charged was $2,056.00.
6 the number of taxisthat are insured through 6 STAMP, Q.C.:
7 that particular period. So, it'sacalendar 7 Q. Andsoif I go back to 2003, Mr. Doherty, what
8 year adjusted number. If you have a taxi 8 Is that average number in 20037
9 that’ sinsured for six months in the calendar 9 MR. DOHERTY:
10 year, it will be counted as half ataxi. So 10  A. It was$1,931.00.
11 816 exposure countsfor accident year 2012 11 STAMP, Q.C.:
12 refers to the exposure of 816 taxis equivalent 12 Q. That'sfor al of thecoveragesthat those
13 to being insured for one year over that 13 taxis, at that time 652 taxis, carried?
14 period. In Column 2, from that same data 14 MR. DOHERTY:
15 source, we have the Earned Premium. Earned 15 A. That's correct.
16 Premium, again, reflects policiesthat are 16 STAMP, Q.C.:
17 exposed and the exposure during that 17 Q. Andin 2012, the number is $2,056.00?
18 particular period. Soif you have apolicy 18 MR. DOHERTY:
19 that iswritten in--on July 1st andit’sfor 19 A. Correct.
20 12 months, half of that premium would get 20 STAMP, Q.C.:
21 earned in theinitial year and half of it will 21 Q. Okay, and the Recorded Indemnity, Column 47?
22 get earned inthe second year, and in this 22 (10:15am.)
23 case again, focusing on accident year 2012, we 23 MR. DOHERTY:
24 have $5,534,000.00 of Earned premium 24 A.Yeah, and | apologize that--the heading in
25 represented. In Column - 25 hereon Column 4, it saysFA pPpPv Vauation
Page 30 Page 32
1 STAMP, Q.C.: 1 Data. That’sincorrect. It's actually the FA
2 Q. I'msorry, where were you reading from when 2 AlX data. It's recorded indemnity for the
3 you mentioned the Earned Premium amount? 3 taxi business. That’s an unfortunate typo
4 MR. DOHERTY: 4 there.
5 A.Oh, sorry. | want to take you up, please--I'm 5 STAMP, Q.C.:
6 sorry, I'mlooking at the screen, it's-that 6 Q. Andwhat is Recorded Indemnity?
7 wasfor UA. Thetotal atthetop, yes,is 7 MR. DOHERTY:

8 $1,677,734.00. 8 A.Recorded Indemnity reflects some of the
9 STAMP, Q.C.: 9 transactions on claims payments and the
10 Q. So this is the Earned Premium for taxi 10 current case reserves that have been provided

11 business only? 11 for from the servicing carriers and through
12 MR. DOHERTY: 12 the AIX system. So it reflects the life-to-

13 A. For taxi business only for the Facility 13 date payments plus outstanding case reserves
14 Association. 14 as at December 31st, 2012, for each of those
15 STAMP, Q.C.: 15 accident years. So al of themareas at

16 Q. For 2012, and thisisthe sum of the premium 16 December 31st, 2012. You can think of it as
17 for al coverages that arelisted below, is 17 at December 31st, 2012, thisis what the
18 that correct? 18 servicing carriers have provided as their best
19 MR. DOHERTY: 19 estimate of the cost for settling the claims

20  A. That's correct. 20 for each of those individual accident years.
21 STAMP, Q.C.: 21 Because it involves actual claims payments,
22 Q. Okay. Go ahead. 22 they don’t have to estimate that part of it.

23 MR. DOHERTY: 23 They’'ve actually settled, at least partialy,

24 A.InColumn 3, we comeup withthe Averaged 24 some of thosedollar amounts. The case
25 Earned Premium simply by dividing Column 2 by 25 reserves are the part that they also provide,
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1 which isan estimatethat is based on an 1 Q. Just for purposes of clarification here, there
2 assessment that’s doneon individual claims 2 aren’t any factorslisted in Column 5 for the
3 themselves. 3 al coverages group, but if | wereto take the
4 STAMP, Q.C.: 4 2003 ultimate indemnity in each of the
5 Q. So thisColumn 4, Mr. Doherty, does this 5 individual coverages and bring it to atotal,
6 column reflect known accidents, so to speak? 6 would that 2003 amount be the $2,125,082.00?
7 MR. DOHERTY: 7 MR. DOHERTY:
8 A.That'scorrect. 8 A.That'scorrect, and theimplied factor--you
9 STAMP,Q.C.: 9 can divide Column 6 by Column 4 and you can
10 Q. Andtheamounts that have been paid to date 10 get an implied loss development factor for
11 and the amounts that are expected to be paid 11 each of those accident years.
12 in respect to those known accidents? 12 STAMP, Q.C.:
13 MR. DOHERTY: 13 Q. For all coverages?
14 A.Yes 14 MR. DOHERTY:
15 STAMP, Q.C.: 15  A. For each of the coverages, and even for the
16 Q. Okay. Canyou just tell uswhat Column 5is? 16 total. You can certainly tell that, because
17 MR. DOHERTY: 17 the column for--accident 2003, Column 6 is the
18 A.Yeah. Column 5, you'll seethat it has 18 same as Column 4, so we aren’t in--assuming
19 nothing in the total, but it would reflect, 19 that there’ s any further development on claims
20 when you look at the individual coverage 20 that we already know about for 2003.
21 levels, what we refer to asloss devel opment 21 STAMP,Q.C.:
22 factors. Theidea behind the loss development 22 Q. All right, and what is-so the ultimate
23 factor is that it'san adjustment for the 23 indemnity isjust the amount that’sin Column
24 information we know as at December 31st, 2012, |24 4 adjusted for the factor that you havein
25 what we believe those claims will ultimately 25 Column 5?
Page 34 Page 36
1 get settled at. In additionto the claims 1 MR. DOHERTY:
2 that we know, it also has aprovision for 2 A.Yeah. So redly we're looking at two
3 claims that have occurred or events that have 3 different provisions and we have case reserves
4 occurred and claims that could arise out of 4 that are amountsthat the servicing carriers
5 that, for which a provisionisnot aready 5 and their claims adjudication process have
6 included inthe individual case reserves. 6 identified that they think they’re ultimately
7 Obvioudly - 7 going to pay out. Welook at the history of
8 STAMP, Q.C.: 8 how claims develop over time and then we make
9 Q. And so--sorry? 9 an assessment of that, and so our fina
10 MR. DOHERTY: 10 assessment will include a provision for both
11 A.Sorry. Obvioudy if aclaim hasn't been 11 claims that have occurred but are not reported
12 reported to the servicing carrier or it'sat 12 and included in the case assessment, but also
13 the servicing carrier, but they haven't 13 it will include an assessment of how adequate
14 forwarded that information in through the 1BC, 14 the historical case reserve activity is at
15 the claim has occurred, we just don’t have it 15 that point in time. And the reason | bring
16 recorded at the Facility Association yet, and 16 that up isthat it is possible to have avalue
17 so part of our job isto estimate a provision 17 in Column 6 that’s actually below the value
18 for those amounts. 18 that’sin Column 4. And | think you'll find
19 STAMP, Q.C.: 19 that, for example, in accident year 2009, the
20 Q. Sothose unknown claims, so to speak, are not 20 amount of recorded level that we havein total
21 recognized in Column 4, but they’ re trying to 21 is$2.8 million but we're estimating that at
22 be accounted for through Column 5? 22 final resolution wewill only pay out $2.6
23 MR. DOHERTY: 23 million and that’ s because the case reserves
24  A. Correct. 24 historically, atthat point intime, have
25 STAMP, Q.C.: 25 tended to be higher than what’ s necessary to
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1 resolve the cases. 1 A That'scorrect.
2 STAMP, Q.C.. 2 STAMP, Q.C.:
3 Q. Can youtell us about theratio that is 3 Q. Sowhat do those two numbers reveal ?
4 identified in Column 7, the Ultimate Loss 4 MR. DOHERTY:
5 Ratio? What is that, please? 5 A. That payments on accident year 2012 plusthe
6 MR. DOHERTY: 6 case reserves that have aready been
7 A.Theloss ratiois akey performance metric 7 established for events that we know about is
8 that’ s used throughout the insurance industry 8 in excess of the premium that we collected for
9 and it’s simply a measure of how much are you 9 that period.
10 ultimately going to pay out in, in this case, 10 STAMP, Q.C.:
11 indemnity claims only. So this includes on 11 Q. And then if youadjust it for the loss
12 loss adjustment expenses. Thisis only for 12 development factors that you talk about in
13 paying out in indemnification for events that 13 Column 5, what happens to the recorded
14 have occurred that areinsurable. And this 14 indemnity in Column 4?
15 ratio isaratio of how much premium has been 15 MR. DOHERTY:
16 collected and how much the indemnity is in 16 A. It reachesthe point where it’s ailmost twice
17 relation to that premium collected. Soiit’s 17 the level of the earned premium.
18 Column 6 divided by Column 2. If that ratio 18 STAMP, Q.C.:
19 is below 100, that means that we have 19 Q. Okay. Sotounderstand what this tableis
20 collected more premium than we're going pay 20 telling us, is that the expectation is that
21 out in indemnity, which allows usto recover 21 just about 200 percent would be paid out in
22 some of thecost of the expense associated 22 indemnity payments compared to the premium
23 withit. If that ratioisabove 100, that 23 earned for that same year?
24 means that the ultimate payout to indemnity is 24 MR. DOHERTY:
25 going to be higher than we collect in premium. 25  A. That's correct.
Page 38 Page 40
1 STAMP,Q.C: 1 STAMP, Q.C.:
2 Q. SoMr. Doherty, the ultimate loss cost, is 2 Q. Atthetop of the page or near the top of the
3 that an exposure number generated in Column 8? 3 page, this isdescribed as FA Experience
4 MR. DOHERTY: 4 Projected Provincial Loss Ratio (Indemnity
5 A.Yeah. SoColumn8isa-you can think of it 5 Only), what does that mean?
6 as an average loss per vehicle. Just likein 6 MR. DOHERTY:
7 Column 3, we have an average premium amount 7 A.This reflects the taxi business in
8 per vehicle or per taxi, Column 8 des the same 8 Newfoundland only and again, with indemnity
9 thing but for the losses. So for example, for 9 it's for indemnification. This does not
10 2003, the average premium was $1,931.00 but 10 include any of the expenses associated with
11 the average | oss per taxi was $3,252.00. You 11 the servicing carriers adjudicating the
12 can get the same ratio in Column 7 by dividing 12 claims, or any cost associated with
13 Column 8 by Column 3. It'sthe same number, 13 adjudicating the claim, including any costs
14 same ratio. 14 associated with hiring professionals to do any
15 STAMP, Q.C.: 15 kind of work associated with adjudicating the
16 Q. Sojust to come back then, Mr. Doherty, to the 16 clam.
17 Earned Premium for, say, 2012 in Column 2, 17 STAMP, Q.C.:
18 that's shown as $1,677,734.00, is that 18 Q. Sothe 199.5 percentin Column 7, whichis
19 correct? 19 intended to reveal that the ultimate payout
20 MR. DOHERTY: 20 for the known accidents and those that are not
21  A. That's correct. 21 yet known but have been--but these are
22 STAMP, Q.C.: 22 existing policies, will be 199.5 percent
23 Q. Andthenthe recorded indemnity in Column 4 23 before any expenses are taken into account?
24 for that same year is $2,847,576.00? 24 MR. DOHERTY:
25 MR. DOHERTY: 25  A. That's correct.
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1 STAMP, Q.C.: 1 through columns 12 through 16. And we also
2 Q. Allright. If you canjust come acrossthe 2 need to recognize that the premiums that we
3 page, then, to the--Columns 9, 10 and 11, Mr. 3 charged in the past are not the premiums that
4 Doherty. 4 we're currently charging. And in addition to
5 MR. DOHERTY: 5 that, thereare underlying changesin the
6 A. Theportion of thisexhibit beyond Column 8 is 6 businessitself andthe coveragesthat are
7 an attempt, then, to work through the process 7 purchased and the vehicle valuesthat are
8 of what we'retrying to achieve in terms of a 8 being insured that we're going to get
9 rate level indication. What we'retrying to 9 additional premium for as a matter of course,
10 look at is aforward-looking exercise for a 10 and so we estimate what those impacts are. We
11 future policy period, what is the rate that we 11 treat those through the drift characteristics
12 need to chargeto capture al the costs 12 that we referred to in Column 10 and I’'m happy
13 associated with providing insurance, and that 13 to go through any of those.
14 includes, obviously, the indemnification part, 14 STAMP, Q.C.:
15 but alsoto capture our expenses. To go 15 Q. All right, so just quickly then, what isthe -
16 through that exercise, we have two bases that 16 what number is showing up in Column 9, what’s
17 we start with and this--in particular, al of 17 that you intend to identify?
18 D-1is associated with looking just at the 18 MR. DOHERTY:
19 experienceitself, and again we're looking at 19 A.So Column9 should reflect the difference
20 a 10-year period. Our goa through this 20 between the rate level that was available for
21 process isto take the historical events that 21 any particular accident year, and the rate
22 have occurred and use those asa way of 22 level that iscurrently available beforewe
23 estimating what might happen in the future. 23 make any changes. In particular, the total,
24 WE don’t know what’s going to happen in the 24 we're not reflecting anything in any of those
25 future, but we have apretty good idea of 25 columns because we' d have to do some weighted
Page 42 Page 44
1 what’s happened in the past, and we believe 1 averagesto get to atotal level, but if you
2 there should be a connection between what’s 2 look just down below, the first set that you
3 happened inthe past and what's going to 3 see below is third party liability, and the
4 happen in the future, and to that extent, the 4 factor that you're seeing there at 1.4992 is
5 process that we're going through here, we're 5 an estimate of the increase that happened for
6 trying to, then, adjust the premium levelsto 6 third party liability effective August 1st,
7 what we expect to see before any other rate 7 2013, a50 percent rateincrease. Sowe're
8 changes occur and we're projecting for each of 8 adjusting the premium levels for each of those
9 the accident years. For the eventsthat gave 9 accident years to reflect the fact that after
10 rise to claims, say, in action year 2003, what 10 each of thisaccident years, theonly rate
11 claim activity could we expect to arise from 11 changes that had occurred happened effective
12 those same eventsiif they instead incurred, at 12 August 1st, 2013. Infact, as | understand
13 the average accident date, under the future 13 it, rates for taxis for the Facility
14 policy period that we'relooking a. The 14 Association prior to our filing last year and
15 average accident date of the policy period 15 the approval, the rates hadn’t changed since
16 that we're looking at is about midway through 16 1993.
17 accident year 2015. So our goal of this 17 STAMP, Q.C.:
18 exerciseissaying | don’'t know what’s going 18 Q. And so you spoke about the drift features that
19 to happen in the future, but | can look at 19 are generated in the factor in Column 10, and
20 theseten yearsand say they might give me 20 how do those factors apply to impact on Column
21 someinsight into what might happenin the 21 1172
22 future, but | need to put them on a basis that 22 MR. DOHERTY:
23 | expectto see interms of costin the 23 A.Yes, s0 there sanumber of characteristics
24 future, and we do that through a process 24 that we look at on here. Through time, taxis
25 that’ sidentified through--on thelaw side 25 may purchase higher limits. Instead of
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1 purchasing a half amillion dollar limit, they 1 coverages differently. Rate group doesn't
2 may purchase amillion dollar limit. They may 2 affect the third party liability, for
3 instead of purchasing amillion dollar limit, 3 instance, it doesn't affect the accident
4 they may purchase a2 million dollar limit. 4 benefits, for instance, but it does affect the
5 When they purchase a higher limit, we charge a 5 physical damage coverages. Deductibles don’t
6 higher premium, and if we see atrend in the 6 apply to - purchase deductibles don’'t apply to
7 purchases, then we're collecting more premium 7 third party liability and accident benefits,
8 over time and if we believe that trend is 8 but they do apply to physical damage. Limit
9 going to continue, then over time the 9 doesn’'t apply to physical damage, but it does
10 portfolio of taxis are buying a higher limit, 10 apply to third party liability. So we mash it
11 then we know we're going to collect more 11 up with the coverages themselves.
12 premium and we reflect that as part of what we 12 (10:30 A.M.)
13 would call "alimit drift". To the extent 13 STAMP, Q.C.:
14 that they are purchasing a high limit, 14 Q. All right, and following from that, if you
15 obviously, they' re exposed to higher values on 15 could speak to the claim side, the two columns
16 theclaim side. So ontheclaim side, you 16 that contain data there?
17 would also see increases that areimbedded in 17 MR. DOHERTY:
18 the trend analysis on the claim side. Sowe 18 A.Yes, so Columns 12 through 16 provide the
19 recognize that we're collecting additional 19 process that we use to get from the level of
20 premium. When you look at what's happening on 20 ultimate claims that we believe we' re going to
21 the claim side, buried in there may be some 21 pay out for each accident year to that future
22 impact because over time they’re buying high 22 level. Thefirst three columns are described
23 limits, and so severity, for instance, might 23 asinput. Column 12,13, and 14, they're
24 go up because of that. A limit is one 24 loading factors that we would put in that are
25 consideration. Deductibles on physical 25 not used in this particular filing, but I'll
Page 46 Page 48
1 damage, if the taxisover timeare buying 1 just very briefly introduce what they would be
2 higher deductibles, the premium would actually 2 if they were. Number 12, if you have
3 decrease because we' re collecting less money, 3 individual claims detail, you might be able to
4 but again if they’ re buying high deductible on 4 cap individual claims with a view that
5 the clam side, that would have downward 5 particularly large claims may not happen al
6 pressure on the claims. So you're getting it 6 that often, but you want to reflect it. So if
7 in both sides, and it should be reasonably 7 you're looking at a very small narrow period,
8 aligned. Rate group is another characteristic 8 your experience could be over - you could have
9 that welook at. Unfortunately, with taxis, 9 adverse impact because you're looking at an
10 we don’t have detail provided through the plan 10 eventin afiveyear period that realy only
11 of operation process on the individual 11 happens once every 10 years or once every 20
12 distribution of the taxisby rate group. A 12 years. You just got some bad luck, it just
13 rate group is adescription of the vehicles 13 happened in that five year period. So what
14 themselves. So for this, we're assuming that 14 youwould doiscap that lossor remove it
15 over time purchases of new taxis as you renew 15 altogether and replace it instead by alarge
16 your fleet will generate on average a higher 16 lossload. Sointhe case where you have an
17 overal rate group, and so we would be 17 event that has happened, but you think that
18 collecting more premium on the basis of that. 18 sizeof thatis only going to happen once
19 Because wedon't have detail, we make an 19 every 10 years, you would remove the claim,
20 assumption that the overall driftissimilar 20 say, it'samillion dollars, take it out, and
21 to inflation, so | believe weuse a 1.5 21 because it happens once every 10 years, you
22 percent additional premium that we would 22 replace it with $100,000.00. Because it
23 collect because of the rate group drift. All 23 happens once every 10 years, if you replace a
24 of those areput together. The various 24 million dollars with $100,000.00, you're
25 characteristics will affect different 25 capturing the million dollars over a 10 year
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1 span. Inthis particular case, we don’t have 1 was going to be impacted, rather than going
2 detailed access for the individual claims. My 2 back and changing our trend structure models,
3 understanding is that there have not been any 3 we would probably just put in an adjustment
4 significantly large claims that are impacting 4 directly in herefor the anticipated impacts
5 any of the results that you're seeing in 5 of thosereforms. Again none of 12, 13, or
6 Column 6 or 4, but nonetheless, if we did have 6 14, are used in this particular analysis, but
7 that detail, we would look at perhaps doing 7 that’ s what they’re there for.
8 that. Similar to that, in Column 13, you may 8 STAMP, Q.C.:
9 get what we would refer to as "catastrophic 9 Q. And Column 15, Mr. Doherty.
10 events'. Those are the types of eventsthat, 10 MR. DOHERTY:
11 as opposed to impacting asingle event, you 11 A. So Column 15 reflects two components of trying
12 know, an accident that happens where there'sa 12 to move from the events and the claims arising
13 large claim cameout of it, catastrophic 13 out of eventsthat occurred in the past to how
14 events are more when one type of event happens |14 they might look in the future. In our trend
15 that affects multiple policy holders. So, for 15 structure, we really focuson three things.
16 instance, a hail storm might happen that has 16 Oneisthe relationship between loss codt, if
17 animpact on alarge number of individual 17 you want, and time, and there may be more than
18 claims. The same thing as with large losses, 18 one time period that we consider if we believe
19 if you're able to identify those single events 19 that the trend rate, if you want, the change
20 that impact multiple policies, and you think 20 inloss cost over time itself has changed
21 that they’ re influencing your shorter period 21 between periods. Maybefor aperiod of five
22 that you're using for your rate indication 22 years we believe that loss costs are going up
23 when really they don’t happen that often, you 23 by 2 percent, and then for some reason they’'re
24 want to removethose and replace them with 24 now going up by 5 percent, we would bifurcate
25 something that spreadsit to the frequency 25 those two periods and treat them separately,
Page 50 Page 52
1 that you would expect. Againif you had a 1 and it also provides uswith an opportunity
2 hail stormor hurricane, or a very large 2 again to identify where we think reforms and
3 winter storm, ice storm, something like that 3 what those impacts of reforms might have, a
4 that happened and you're ableto isolate it 4 onetime shift up or down in the loss cost.
5 and you looked at the entire cost of all the 5 So you may introduce a reform that you think
6 policies that were impacted, if it'samillion 6 has a one time impact of decreasing loss cost
7 dollars and you only expect an event like that 7 by 25 percent. Wewould capture that in your
8 to happen once every 10 years, you'd replace 8 loss cost projection model.  The idea behind
9 the million dollars with $100,000.00 per year. 9 thisisthat for any individual accident year,
10 Column 14 isacatchall for any other types of 10 we can takeit from the events that occurred
11 adjustments. Now when we get into the trend 11 in that accident year and the claims arising
12 discussion, our trend process captures both 12 out of those, and estimate what those same
13 trends which are changes over time, slopes of 13 events would have looked like, and claims
14 lines, if you want, but there are times where 14 arising out of the eventswould have looked
15 there are reforms that we would call "shifts" 15 likein the 2015 period. To giveyou an
16 inhow claimsactivity will occur. If we 16 example, our view using the commercial
17 haven’t captured some piece of it, we believe, 17 experience for the industry as that for bodily
18 in our trend structure, then this provides us 18 injury, the frequency of claims isactually
19 an opportunity to make an additional 19 dropping. Soif you've got aclaim - you have
20 adjustment. We haven't done any here, but as 20 eventsthat occurred in accident year 2013,
21 a for instance if we completed our trend 21 and claims arising out of those events.
22 analysis and subsequent to that, but before we 22 Moving forward just on the frequency sideto
23 did our rate level indication, areform that 23 the 2015 period, you would actually have fewer
24 was under review, but wasn't included in our 24 claimsfor the events. Now | don't know if
25 trend structure, was introduced and we knew it 25 the number of eventshas dropped or if the
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1 number of claims per event have dropped. I'm 1 adjustment factors, you can see them in Column

2 not trying to separate those two out, it's not 2 15there. Thetop oneis 2003, and it's

3 important for me. All | recognize isthat 3 1.0598, and accident year 2004 isthe next

4 claims arising out of eventsin 2013, you have 4 one, 1.2383, and then accident year 2005 is

5 fewer claims arising out of events in 2015, 5 1.4788. You can see that those factors have

6 and so we would reflect that in this loss cost 6 actually increased up to 2005. After 2005,

7 projection factor. Similarly, the cost of 7 those factors al decreased, and the reason

8 those events, the severity of those events, so 8 2003 and 2004 arelow is because of that

9 eachindividual claim on average, how much 9 adjustment that we put in because of what
10 doesit cost to settle those claims. Between 10 we're seeing, something happened in 2004.
11 2003 and 2015 for bodily injury, we believe 11 Otherwise, you would see - generally because
12 those costs have gone up and have gone up 12 our overall loss cost for bodily injury and
13 substantially. So you would reflect that. In 13 property damage are increasing, you would see
14 moving from 2003 to 2015, you’' d see an annual 14 al of those factorsincreasing as you move
15 increase in each of those costs on the 15 from accident year 2012 back to accident year
16 severity side, but we also believe that the 16 2003.
17 automobile reform or something happened in 17 STAMP, Q.C.:
18 2004 that caused a dramatic drop, both in the 18 Q. All right, and just the last two columns, Mr.
19 severity and in the frequency, which causes 19 Doherty, can you summarize what they are?
20 2003 accident year losses to have dropped, in 20 MR. DOHERTY:
21 addition to those two individual piecesthat | 21 A.Yes.
22 talked about, which are the downward trend in 22 STAMP,Q.C.:
23 the frequency, the upward trend in the 23 Q. That'sColumn 17 and 18.
24 severity, but there was a one time shift and | 24 MR. DOHERTY:
25 assume that it’'s because of or related to the 25 A.Yes, so Column 17 then - first of all, Column

Page 54 Page 56

1 2004 product reform, but it might be related 1 16, thisis now trended ultimateloss. This

2 to something else. | don’t know. All | know 2 IS - go back to accident year 2003. Accident

3 isthat when | look at the data, something 3 year 2003, 16, thisisthe cost of the claims

4 changed in 2004 and | want to reflect that, 4 that we think that if you took those events

5 and | reflect that in how | move from 2003 to 5 from 2003 and you had them occur in 2015,

6 2015. Now | will say, whenwelook at the 6 instead of generating whatever the value was

7 overall experience, we do look at this 10 year 7 in Column 4 or Column 6, you'regoing to

8 period, and | think it'simportant to keep in 8 generate 2.8 million dollars of claims, and

9 the context the 10 year period, but in terms 9 like 2012, instead of whatever the valueis
10 of the actual experience, that period that 10 that we had that occurred in 2012, you would
11 we'reusing for theindications themselves, 11 generate 3.8 million for those types of events
12 we're only using the most recent five years. 12 if they occur in 2015. This provides uswith
13 So the only year - there' stwo yearsthat are 13 10 data points, if you want, of possible years
14 impacted, in our view, by this 2004 reform or 14 of how 2015 could manifest itself. So those
15 whatever it wasthat changed in 2004 because 15 are the trended ultimate | osses, and the trend
16 we believe it happened in the second half of 16 again - the trended piece takes you from that
17 2004. So those impacts only have an influence 17 prior accident period to the future period, as
18 on the experience projected forward for 18 opposed to loss development, whichisrealy
19 accident years 2003 and 2004, and neither of 19 just trying to get how much are we ultimately
20 those periods are actually used to determine 20 goingto pay up for 2003. The trend piece
21 the experience projected loss ratioin our 21 takes you from those events that occurred in
22 indication, but nonethelessit’ sthere. If | 22 2003 asif theoccurredin 2015. In Column
23 go down to the bodily injury piece in Column 23 17, al we're doing thenis dividing the
24 15, if you godown just to third party 24 trended ultimate lossesin 16 by our On-Level
25 liability and you look at those loss 25 Earned Premium in Column 11. These arethe
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1 lossratios that those accident years would 1 rate increase that’sincluded there, isthat
2 generateif in 2015 the eventsfrom those 2 for the 2013 rate increase?
3 accident periods took place, and we got the 3 MR. DOHERTY:
4 premium that we are currently charging for the 4 A That'scorrect.
5 taxies. So, in particular, for 2003, 5 STAMP, Q.C.:
6 notwithstanding the fact that we gota 50 6 Q. Butthe 2014 Application?
7 percent rate increase, if you charge those 7 MR. DOHERTY:
8 rates in 2015 and you had the same events that 8 A.Yeah, that's not included there.
9 you had in accident year 2003 occurring in 9 STAMP, Q.C.:
10 2015, we believe the loss ratio would be 151 10 Q. No.
11 percent. Similarly, for 2012, the bottom one 11 MR. DOHERTY:
12 there, if the events that occurred in 2012 12 A.This is al assuming that we receive no
13 were to be repeated in 2015, and we're charing 13 further rate increase. Thisisaview of the
14 the premium that we're currently charging, the 14 world if the ratesremain as they currently
15 loss ratio would be 155 percent. Again this 15 are.
16 column to me indicates that even though we got 16 STAMP, Q.C.:
17 a50 percent rateincrease last year, I'm 17 Q. Butif that rate changes in the manner that we
18 still expecting the experienceif | don’t get 18 have proposed, what would Column 11 for 2012
19 further rate increase to be in excess of 100 19 look likeif that rate were to take you back
20 percent lossratio, and you can seethat 100 20 to 2012? Can you speak to that?
21 percent isfor every year, bar one, 2004, and 21 MR. DOHERTY:
22 2005 isclose too, but that only gets usto 22 A.I'd haveto look at what the total amount is.
23 paying for the indemnity if you'reat 100 23 STAMP, Q.C.:
24 percent. If you're below - if you're over 100 24 Q. Widll, put it this way, the on-level earned
25 percent, we'renot even collecting enough 25 premium for 2012 for al coverages was
Page 58 Page 60
1 money to pay for the claims themselves, let 1 $2,474,620.00, right?
2 aone the expenses that are involved in 2 MR. DOHERTY:
3 adjudicating the claims, but also our 3 A Yeah
4 administrative expenses. 4 STAMP, Q.C.:
5 (10:45A.M)) 5 Q. Andwhat percentage component approximately
6 STAMP,Q.C.: 6 would be composed from third party liability
7 Q. So Mr. Doherty, if wewereto go back to the 7 in that number?
8 on-level premium Column 11, and take, for 8 MR. DOHERTY:
9 example, 2012, $2,474,620.00, that’s the on- 9 A It'sapproximately 93 percent.
10 level premium that hasbeen, if you like, 10 STAMP, Q.C.:
11 grossed up premium for all coverages? 11 Q. Okay, so avery significant portion of itis
12 MR. DOHERTY: 12 third party liability?
13 A. That’sright. 13 MR. DOHERTY:
14 STAMP, Q.C.: 14 A.Yes
15 Q. Soif we wereto approximate the proposed 15 STAMP, Q.C.:
16 increasethat isnow being requested, what 16 Q. Okay. Allright, so you've spoken to some
17 would that number look like, the 2012 number 17 extent about the D-5 factor influence, the
18 in Column 11, what would that number look like |18 loss devel opment factor in D-5. Can you then
19 if it included the rate increase we're now 19 just take us to how that loss development
20 seeking? 20 factor is created? | think, Mr. Chairman,
21 MR. DOHERTY: 21 Commissioners, | don't understand this loss
22 A.InColumn 11, it doesincludeit, | think, if 22 development factor issue to be much of an
23 we go back to the lossratio. 23 issue asbetween the parties. That's my
24 STAMP, Q.C.: 24 understanding at least, but I’m going to have
25 Q. No, but thison-level earned premium, that 25 Mr. Doherty just sort of run through it, at

Discoveries Unlimited Inc., Ph: (709) 437-5028

Page 57 - Page 60




November 5, 2014

Multi-Page™

Verbatim Court Reporters

Page 61 Page 63
1 least briefly, to explain how that factor is 1 lot of difference between the Link Ratio
2 generated? 2 Method and the Expected L oss Ratio Method with
3 MR.DOHERTY: 3 respect to Newfoundland non-private passenger.
4 A.Yes, on thisparticular D-1 Exhibit, the 4 Infact, as| recall, for accident years 2010
5 factor that we're referring to isin Column 5. 5 and prior, we used the Link Ratio estimates
6 STAMP, Q.C.: 6 directly. For accident years 2011 and 2012,
7 Q. Yes 7 we did give some weight to the Expected Loss
8 MR. DOHERTY: 8 Ratio Method. For third party liability, that
9 A.Andthereferencethenis to D-2. The factor 9 actually reduced the estimate rather than
10 itself comes directly from Section C on the D- 10 increaseit. The Expected Loss Ratio Method
11 2 Exhibit, so | would ask to move to the D-2 11 valuation estimate was lower than the Link
12 Exhibit. Asl understand it - I’'m just trying 12 Ratio Method. The June 30th valuation, when
13 tofind whereitis exactly. | thinkit's 13 we got to the Expected L oss Ratio approach, we
14 down prabably three or four pages. Thereyou 14 did not complete that approach at acoverage
15 go. 15 level and an accident half year level. That
16 STAMP, Q.C.: 16 level of detail was only done onthe Link
17 Q. Hereyou go. 17 Ratio. That’'s the process that wein place at
18 MR. DOHERTY: 18 thetime. So we would come up with what we
19 A.So asl| mentioned at the onset, the loss 19 refer to as expected loss ratiosfor each
20 development processis not directly related to 20 accident year, but we would do it at what we
21 the experience of thetaxiesas provided to 21 call agovernment linelevel, that isthird
22 us. Instead we use the valuation for 22 party liability accident benefitsand other
23 Newfoundland experience for non-private 23 coverages. Thetitle comes from when you're
24 passenger as the basis for determining how the 24 reporting your results to government agencies.
25 claims activity moves from different pointsin 25 Typically, they only ask you to summarize your
Page 62 Page 64
1 timeto their ultimate settlement. At the 1 resultsinto those three categories. Again
2 June 30, 2013, the valuation process relied on 2 historically, we've only done it on an
3 three different valuation methodologies. 3 accident year basis, and the government line
4 Therewas alink Ratio Method, an Expected 4 for the Expected Loss Ratio, and because the
5 Loss Ratio Method, and a Bornhuetter-Ferguson 5 Bornhuetter-Ferguson Method is aweighting of
6 Method. TheLink Ratio Method was completed | 6 the Link Ratio and the Expected Loss Ratio, it
7 at acoverage level and an accident half year 7 too isonly done at the government line level.
8 level, and I'll talk about that processin a 8 As we selected results estimates based on the
9 minute and I’ [l take us to Appendix A, where 9 Link Ratio, because we doneit on accident
10 the determination of the factors that we used 10 half year basis, and because we doneit on a
11 in the estimates of ultimate associated with 11 coverage year basis, we can sum those up to an
12 that are derived. In addition to that, 12 accident year and a government line level just
13 though, we have the second estimate process 13 by adding together the selections. So the
14 that we use that’s called the Expected Loss 14 process is determine your estimates of
15 Ratio Methodology. Unfortunately, we didn’t 15 ultimate using theLink Ratio Method and
16 include the results of that in our origina 16 accident half year on a coverage level basis,
17 filing. Wedid provide asummary of those 17 then summarize those selections up to an
18 exhibits with our responsein the March 31st 18 accident year and a government line basis,
19 Oliver Wyman request for additional 19 compare those to estimates you would get using
20 information. There' snot alot of difference 20 an Expected Loss Ratio Method, compare those
21 between our selectionson a Link Ratio basis 21 towhat you would get from a Bornhuetter-
22 and the Expected Loss Ratio. The Bornhuetter- 22 Ferguson Method, and then the appointed
23 Ferguson Method is really a weighting 23 actuary, in fact, selectstheir final estimate
24 methodology between alLink Ratio Method and |24 of ultimate from those three methodologies
25 Expected Loss Ratio Method, but thereis not a 25 giving whatever weight he determines
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1 appropriate for the various estimates. What 1 Because we' ve standardized thistemplate, this
2 we have here in Exhibit D-2 then is not the 2 indication templateis applied for all classes
3 taxi experience. It is the non-private 3 of business across al jurisdictions, so you
4 passenger experience, but taxi isincluded in 4 will every now and again see something that
5 this experience, and the top part, Section A, 5 doesn’'t necessarily apply specifically to
6 isat June 30th, and this isthe ultimate 6 Newfoundland taxies, but where it doesn't
7 indemnity amount by coverage that was selected 7 apply, it doesn’'t have any impact. So when
8 through the process. In Section B below is 8 you look at Section C, Column 36, TPL
9 the recorded activity for that same data, but 9 Indivisible in accident year 2012, you'll see
10 as at December, 2012, and the reason we pull 10 an Implied Loss Development Factor of 1.1316,
11 up therecorded indemnity for non-private 11 and | believeif you go back then to Exhibit
12 passenger in that Section B is because our 12 D-1, you should see that 1.131, and you'll see
13 taxi experienceis as at December 31st, 2012, 13 it down there at the bottom under TPL
14 and if we apply the methodology as 1’1l point 14 Indivisible. For 2012, there'sa factor of
15 outin aminutein Section C, we've got an 15 1.1316. Now that describes how the D- 2
16 estimate at June 30th that’sa selection of 16 Exhibit producesthat factor. | do wantto
17 ultimate, and | can apply that selection of 17 take us now to Appendix A, where we look more
18 ultimate to any prior diagonal. | can look at 18 closely at the loss development process
19 it, compareto resultsasat December 314, 19 itsalf.
20 2009, and | will be able to tell you from 2009 20 STAMP,Q.C.:
21 what do | think it isto get to ultimate just 21 Q. Just before you go there, Mr. Doherty, so
22 by comparing it, because | have a selection of 22 Column 36 factors find their way into the TPL
23 ultimate for that period. Obviously, at 2009, 23 Indivisible Column 5 grouping in the D- 1
24 | don’t have any accident year 2010, 2011, or 24 Exhibit?
25 2012, so I’'m not going to have any data there 25 MR. DOHERTY:
Page 66 Page 68
1 at al to apply anything to. | will haveit 1 A. That's correct.
2 for 2009 and prior. So if we go down to 2 STAMP,Q.C.:
3 Section C, al I'mdoing hereis creating 3 Q. And, | guess, similarly, the other coverages,
4 what’s called an Implied Loss Development 4 | think, in Column 42 and onward, find their
5 Factor from my selection of ultimate to the 5 way into the individual coveragesin D-1as
6 recorded activity that’sin Section B. So for 6 well?
7 accident year 2012 in Section C for bodily 7 MR. DOHERTY:
8 injury, | would use afactor of 1.1239, apply 8 A.That'scorrect.
9 to any piece of my non-private passenger to 9 STAMP, Q.C.:
10 get from therecorded activity at December 10 Q. Okay, and you were going to takeus, | think
11 3lst, 2012, to my ultimate estimate associated 11 you said, to Appendix A.
12 with my results as at June 30th, 2013. Now 12 MR. DOHERTY:
13 the results that we have, the data that we 13 A.If we can goto Appendix A, | believe it
14 have available to us on taxies through the AIX 14 startson page 78. Thisisthe title page.
15 does not split for us bodily injury and 15 WEe'll go down to page 79. Thisfirst section
16 property damage. Sowe haveto useinstead 16 isasummary of the results of the Link Ratio
17 the column there in Section C, Column 36 17 estimate process itsalf. Again,
18 called TPL Indivisible. Y ou can see that the 18 unfortunately, we didn’t include the results
19 weighting isjust simply a sum of the results 19 of the Expected Loss Ratio. We did provide
20 of bodily injury and property damage. Now we 20 that as an appendium to earlier questionsin
21 do have a column in there called DCPD, Direct 21 March. So SectionAis the Link Ratio
22 Compensation Property Damage. In some 22 estimates by accident year for non-private
23 jurisdictionsthat isacoverage under TPL. 23 passenger, and if we slide down here, you'll
24 That is not a coverage for TPL under 24 see, say, for accident year 2012, we do have
25 Newfoundland, but we include it, anyway. 25 in here - you'll see accident year 2013 isin
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1 here because thisis a valuation at June 30th, 1 estimate for third party liability was lower
2 so we do have results for accident year 2013 2 than the estimate if you used the Link Ratio
3 for non-private passenger. Thisonly reflects 3 Method. So that again that differenceisall
4 half an accident year because it's at half a 4 pushed into bodily injury. For accident
5 year, but that resultis not usedin our 5 benefits, we would do the same thing except
6 indication because we're not using accident 6 al of the difference gets pushed into - maybe
7 year 2013 anywhere. So I’ m going to focus my 7 if you'll just dlide up alittle bit, I’'ll see
8 attention on accident year 2012. Y ou seefor 8 what the columnis. In Column 24, called
9 bodily injury the estimate, if you use the 9 Total Excluding Uninsured Automobile and
10 Link Ratio Methodology, is $4,992,958.00, and 10 Underinsured Motorists, the accident benefits
11 next to it isproperty damage, the estimate 11 government line in Newfoundland includes both
12 using Link Ratio is$657,350.00, and if you 12 uninsured automobile and underinsured motorist
13 add those two numbers together, you get 13 coverages.  For taxis, there is no
14 $5,653,308.00, which isin that column for TPL 14 underinsured motorist coverage, but again this
15 Indivisible. These are theresultsif you are 15 Isnon-private passenger in total. So any
16 using the Link Ratio process to estimate your 16 differences between the final selection for
17 ultimates. I’'m going to slide down thento 17 accident benefit government line and the Link
18 the next page. Now these are the government 18 Ratio estimatewould get pushedinto this
19 line selected ultimates, and you’'ll see Column 19 Column 24, whichisreally just the accident
20 22 says fina selection, so again the 20 benefits piece. It's accident benefits
21 valuation result, we select ultimates at the 21 indivisible. On the physical damage side, any
22 government line level. So Column 22 reflects 22 differences we would actually spread among all
23 what was actually selected. Soif we dlide 23 the coverages in relation to their
24 down to take alook at accident year 2012, the 24 contribution at the Link Ratio. So if we had
25 final selection was $5,088,963.00, which is 25 collision, the Link Ratio estimate was
Page 70 Page 72
1 lower than the Link Ratio estimate. What we 1 $100.00, but comprehensive was $50.00, and a
2 want to do is take that government line level 2 difference of $1.00 we would put two-thirds of
3 and allocate it to the coverage because | need 3 it into collision, and one-third of that
4 to have coverage level ultimatesfor usein 4 difference into comprehensive. We just split
5 the indication. We have a processin place to 5 it that way instead of picking one coverageto
6 move from government line to the coverage 6 put all the difference into. Now down below
7 through an alocation, and it depends on the 7 this summary we will seethe actual - again
8 individual government line. For third party 8 the focus of thispieceisonly on the Link
9 liability, if there’sany difference between 9 Ratio estimate. Wedidn't provide the other
10 the final selection and the Link Ratio 10 information, and | apologize for that. If we
11 estimate, we would put all of that difference 11 go down a little bit theninto the next
12 into bodily injury. So you'll notice here for 12 section, this iswhen we actually show the
13 2012 the property damage selected ultimate is 13 historical development trianglesfor in this
14 $657,350.00. That's the same estimate 14 particular case bodily injury, and the
15 ultimate as you saw in Section A, but the 15 snapshots by accident half year, and at
16 selected ultimate under bodily injury at 16 different development ages.
17 $4,431,613.00 is lower than the estimate from 17 (11:00 A.M.)
18 the Link Ratio, and that's because the 18 Soif | go down near the bottom there, you'll
19 difference for third party liability is pushed 19 seethat thereisa reference to an accident
20 al into the bodily injury. The reason again 20 period called 2012-2. Thefirst number in
21 for accident year 2012, anyway, there's a 21 that row is$1,270,697.00. That is the
22 difference between the final selection and the 22 reported losses, recorded losses, both
23 Link Ratio estimate is because we gave weight 23 payments and case reserves at June 30th in
24 inthe process to the Expected Loss Ratio 24 relationto - sorry, a December 31<t, in
25 estimate, and that Expected Loss Ratio 25 relation to claims that occurred in the second
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1 half of accident year 2012. For accidents 1 MR. DOHERTY:
2 that occurredin the first half of 2012, 2 A.No, this isperfect. You'll seehere now
3 they'rereflected in the row above. So the 3 we're actually looking at what we refer to as
4 first column that we see there, the amount is 4 link ratios. These are simply the division of
5 $1,856,324.00. That isthe amount of recorded 5 one column by the prior column from the
6 activity at June 30th, 2012. The next column 6 previoustriangle. So at the bottom there,
7 will show you what the recorded activity was 7 you'll see 2012-2, that’s accidents occurred
8 six months later. That isat December 31st, 8 in the second half of 2012. The 6 to 12 link
9 2012. Thefinal column for that one reflects 9 ratio isthe resultsyou get when you divide
10 $3,148,441.00, and that is the recorded 10 the value that was under Column 12 by the
11 activity for accidents that occurred in 2012, 11 value under Column 6 for that accident year.
12 the first half, but as at June 30th, 2013. In 12 What it meansis that between H6 months and 12
13 fact, that last diagonal inthat triangle 13 months, accident year 2012-2, the recorded
14 reflects the view of each of those accident 14 losses increased by 46 percent. That'sthe
15 periods as at June 30th, 2013. The 15 1.46. Similarly, at that same period going
16 immediately prior diagonal isthe onethat is 16 from accident year - sorry, from H6 monthsto
17 December 31st, 2012. So you'll recall inan 17 H12 months for the previous accident period,
18 earlier section, | said that we looked at our 18 that is accidents that occurred in the first
19 selection ultimates and we compared them to 19 half of 2012, those claims increased by almost
20 the recorded activity at December 31st, 2012. 20 44 percent, and for that same accident year -
21 Those values that we got as at December, 2012, 21 sorry, accident period, accident half year,
22 came from that penultimate diagonal, the 22 between ages 12 and 18 they increased a
23 second from last diagonal. So if wewereto 23 further 17.81 percent. The Link Ratio
24 go down now - thisisthe actual experience at 24 Methodology is based on the assumption that
25 different points intime for each of those 25 you can use these increases that are noted in
Page 74 Page 76
1 accident periods. Stop me if I'm missing 1 each of these periods as away of estimating
2 anything. 2 how in the futurean accident period will
3 STAMP,Q.C.: 3 develop between ages 6 and 12 months, and
4 Q. Sothisis simply taking those dollar value 4 between ages 12 and 18 months. So what we do
5 data out six months, 12 months, 18 months, and 5 iswe look at those ratios and we select from
6 so on? 6 that ratios that we think going forward will
7 MR. DOHERTY: 7 occur. Soif wedide down alittle hit,
8 A.Absolutely. They're different snapshots, but 8 you'll see that we've got a - the top numbers
9 they're cumulative totals of recorded 9 areour final selectionsfor each of those,
10 activity, soit’s lifeto date paymentsfor 10 but you'll seethat thereare anumber of
11 that particular accident period and the 11 different averages that relate to those
12 current estimate of case reservesat that 12 factors above, and there area number of
13 period. 13 factors that asorelate to either other
14 STAMP, Q.C.: 14 results that we have for other jurisdictions,
15 Q. Okay. 15 sometimes we look at al the Atlantic,
16 MR. DOHERTY: 16 sometimes we look at the industry, and we do
17 A. Sowe'll continue going down to the next page. 17 look at prior selected LDFs as aguide to help
18 Thisis just moreof thesame. Thisis a 18 us to understand what changes we' re going to
19 continuation of the triangle. The triangleis 19 make. In thisparticular case, our final
20 kind of two big. We could put it all on one 20 selectionsfor the individual movement from
21 page, but | think we'd have to cal my 21 one development to the next are in that first
22 brother-in-law, the optometrist, to help us 22 row referred to as"Fina Selection”. So
23 out with seeing it. 23 based on our analysis of the results, we would
24 STAMP,Q.C.: 24 say that between 6 monthsand 12 months, an
25 Q. Havewegonetoo far? 25 accident half is going to - the reported
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1 activity is going to increase by approximately 1 1.022 gets applied to the recorded activity
2 51 percent. Thenin the next period between 2 for accident year 2012/2, and the 18 to 24,
3 12 and 18 months, it’sgoing to increase by 3 the .9835 gets applied to my accident period
4 another 4 percent, and the period after that, 4 2012/1. Soif you went back up and you keep
5 it'sgoing to increase by about another 1.5 5 in your head 1.022 and .9835 - good for you, |
6 percent, and then by 2 percent, thenby 5 6 wouldn’t be able to keep track of that, I'd
7 percent, and then barely increase at al, go 7 have to actually look at a piece of paper. So
8 down alittle bit, go down a bit more, go up a 8 we're going to slide up and look back at the
9 little bit. Now in order for usto - instead 9 triangle again. Not that triangle, the
10 of having to multiply each of these periods 10 previous page, sorry, and we'll slide down and
11 each time for an accident year to take it from 11 look at accident year 2012. So if you look at
12 wherever it isto the ultimate, that isto 12 2012/2 at June 30th, the reported activity is
13 include all that future development, to 13 $1,855,520.00, and that’ sthe amount that we
14 simplify the process, we have another row in 14 would multiply by the 1.022 factor. For
15 here called "The Product" where the 1.5427 is 15 accident period 2012/1, the recorded activity
16 just multiplying al of the factors that you 16 is $3,148,441.00, and that’ s the one that we
17 see above. Theideais that that would take 17 would multiply by .9835. If you do those two
18 you from 6 months all the way to ultimate 18 multiplications, and | applaud you if you can
19 because you' re taking into account, I’'m first 19 do it in your head, and then you add those two
20 going to increase by 51 percent, and then on 20 together, the sum is $4,992,833.00, and that’s
21 top of that I’'m going to increase by another 4 21 the valuethat you will seein Exhibit D-2.
22 percent, and then I’m going to increase by 22 If we can go back then to Exhibit D-2, I'll
23 another 2 percent. Thisjust combines all 23 try and show that that is, in fact - sorry,
24 that information into a single matrix, a54 24 not D-2, it'sthe Appendix A. The D-2 isthe
25 percent increase from when you initially the 25 final ultimate. | apologize. So page 78 or
Page 78 Page 80
1 first time look at that particular accident 1 79, | guess, and if you go down to Section B
2 period when it's6 monthsof age, it will 2 onit- sorry, go upto Section A. There we
3 increase by 54 percent by the time you 3 go. You'll seefor bodily injury under 2012,
4 ultimately settle that based on that 4 we have $4,992,958.00 and that’s how that
5 particular matrix. If you're got an accident 5 reflects back into - so that's how we
6 period and it'sat 12 months of age, it's 6 determine the Link Ratio estimate, and again
7 going to increase from that period by about 2 7 when we get to the selection of ultimate, we
8 percent only to ultimate level, and if you've 8 take into account Expected Loss Ratios.
9 got an accident period that is at 18 months of 9 STAMP, Q.C.:
10 age, it's actually going to decrease. You've 10 Q. So, in effect, Mr. Doherty, what we're doing
11 actually got more recorded than you actually 11 here, as| gather, is filling out the bottom
12 are going to haveto sdl it for. It'sgoing 12 of that triangle that’ s blank?
13 to settle for something alittle bit less and 13 MR. DOHERTY:
14 2 percent below what you've currently got it 14 A That’'scorrect. We'retrying to estimate how
15 at, and 24 to 30, it's goingtodrop by 97 15 claimswill emerge over time.
16 percent. Sowewould take these factors and 16 STAMP, Q.C.:
17 apply them to then the values inthe most 17 Q. Right. So that whole processis what gives
18 recent diagonal of the triangle to get usto 18 you the Loss Development Factor that you have
19 estimates of ultimate. The 6to 12 factor 19 in Column 5 of D-1?
20 that we have here, the 1.5427 would apply to 20 MR. DOHERTY:
21 accident year 2013/1. That'sthe accident 21 A. That'scorrect. Soif we go back thento D-1
22 period at June 30th that’s at 6 months of age. 22 and just look at the total for asecond. So
23 I’m not interested in that one, it’s not going 23 in Column 4, we have the total recorded
24 to show up in our indication, but the next two 24 activity. Thisis before we do the estimates
25 do haveanimpact. The 12 to 18 month, the 25 of ultimate, and you' |l see at the bottom the
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1 total is $22,552,791.00. When we develop all 1 which we touched on already on our way through
2 the individual accident yearsto ultimate, the 2 D-1, and come back tothat more specific
3 total is $22,552,118.00. Y ou can seethere’s 3 detail, again just to have you clarify aswe
4 not much of a difference there. The 4 lead into this, the distinction between the
5 difference between the recorded indemnity and 5 Column 5, Loss Development Factor, and the
6 the ultimate indemnity werefer to asIBNR. 6 Column 15, Loss Cost Projection Factor?
7 That’saprovision for both true incurred but 7 MR. DOHERTY:
8 not reported levels, that is for claims that 8 A.Column 5, Loss Development Factor, is meant to
9 have occurred, but haven't been reported, but 9 take the recorded activity to what we think
10 aso for development unknown claims. Inthis 10 that particular accident year we' re ultimately
11 particular case, thetwo for this particular 11 going to pay out for claims that have occurred
12 portfolio and for non-private passenger 12 whether or not we know about them. The Loss
13 businessin Newfoundland, the two of those 13 Projection Factor isa way of taking again
14 basically are washed. The future development 14 events that occurred in a particular accident
15 unknown claimsis going to be a negative 15 period and claimsarising out of those and
16 number, so that it offsetsthe provision we 16 projecting them forward to afuture period to
17 would need for truly incurred, but not 17 make it ook like what would happen if those
18 reported to us. Sotheend result is, asyou 18 same events occurred in that future period,
19 can see, there's redly in total no IBNR. 19 what would the claims arising out of that ook
20 There isIBNR certainly on individual accident 20 like. Soif we move acrossto Column 15 -
21 periods. You can see the difference between 21 STAMP,Q.C.:
22 2012, there’ s about a $500,000.00 of IBNR that 22 Q. Just beforewe go there, Mr. Doherty, in my
23 take you from 2.8 million up to 3.3 million. 23 remarks before we began the discussion on
24 There’sasmall amount of IBNRin 2011. It's 24 Column 5,1 did indicate that it was my
25 about 66/67 thousand, something like that. 25 impression, at least, that there wasn’t
Page 82 Page 84
1 For 2009 and 2010, actually it's anegative 1 significant disagreement between ourselves and
2 IBNR, and those were the places where again we 2 perhaps Oliver Wyman on those factors that are
3 saw those cumulative factors, those link 3 found in Column 5. |Is there adivergence of
4 ratios were actually below 1, meaning that we 4 opinion in respect to the factors in Column
5 believethat therecorded activity is more 5 157
6 than sufficient for providing for claims that 6 MR. DOHERTY:
7 we're ultimately going to pay out. 7 A Yes
8 STAMP, Q.C.: 8 STAMP, Q.C.:
9 Q. Allright, then. Mr. Doherty - 9 Q. And order of magnitude?
10 CHAIRMAN: 10 MR. DOHERTY:
11 Q. Wewere going to take abreak. Areyou going 11 A. Significant.
12 to befinished - isit okay for you now? 12 STAMP, Q.C.:
13 STAMP, Q.C.: 13 Q. Okay.
14 Q. Yes, thisisan excellent time. 14 MR. DOHERTY:
15 CHAIRMAN: 15  A. So under Column 15, I'm going to first take us
16 Q. Okay, we'll take fifteen and be back at 11:30. 16 to Exhibit D-5, and then | will first show
17 (RECESS- 11:13A.M.) 17 where these factors that you seein D-1 come
18 (11:45A.M)) 18 from, how we derive them, and then we'll drill
19 STAMP, Q.C.: 19 down into more detail on how the support in
20 Q. Okay, Mr. Chairman. 20 behind those factorsis generated. So if we
21 CHAIRMAN: 21 move to D-5, which | believe is on page 61 of
22 Q. Yes, Sir, you may carry on. 22 the package, the first section isjust - now
23 STAMP, Q.C.: 23 al of theresultsthat we havein thetop
24 Q. Thank you. Mr. Doherty, I'm going to have us 24 part is reflective of the Newfoundland
25 move along now to the Column 15 discussion, 25 Facility Association taxis. Thefirst partis
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1 earned exposure, so thiswill look the same as 1 later on, we produce models for frequency and
2 what you saw, | believe, in Column 2 of D-1, 2 severity, and if you multiply frequency and
3 and it’s by accident year. We have aline 3 severity, you get loss cost. These are fitted
4 drawn between accident year 2012 and 2013 4 values. That's the model output. These are
5 because we're now getting into the prospective 5 not actual values, but are fits for those, for
6 exercise. We are now trying to move from what 6 each of those accident periods, and you'll see
7 has happened in the past and estimate what may 7 that they go out to 2017, and again thisisa
8 happenin thefuture. We need to havethe 8 prospective exercise. If you look at the
9 future levels of earned exposures by coverage 9 change, say, for bodily injury going from 2016
10 so that we can do weightingsif we need to. 10 to 2017, that reflects the annual increase
11 So you' Il see under - first of all, Columns 1, 11 from our trend model for bodily injury.
12 2, and 3, which arethe sub-coverages under 12 Similarly, with property damage, you'll see
13 third party liability, again the dataset that 13 2016 to 2017 going from 201 to 204, almost
14 we have to useat December 31st, 2012, for 14 205. Down below that, you'll seethat there
15 Newfoundland taxis, did not have that detail 15 are- it'sasection that's referredto as @
16 split, and that’ s why you see those exposures 16 Projected Average Accident Dates, and we have
17 as zero, but the third party indivisible, 17 two sets. Oneisthe prior analysis and the
18 which | believeisin Column 10, will show the 18 current analysis. So the prior analysis, the
19 exposure counts that we are seeing for all 19 average accident date that was used was June
20 those coverages on a combined basis. Y ou can 20 22nd, 2014. Thecurrent oneis July 23rd,
21 see that beyond accident year 2012, we're just 21 2015, and what we're doing here is we're
22 using the same exposure as we havein 2012, so 22 trying to estimate from our loss model output
23 for the purposes of this, there’sno need to 23 for commercial vehicles what would be the loss
24 assume any kind of increase of decrease in 24 cost we would project at that average accident
25 purposes by coverage for what we're trying to 25 date. Sofor July 23rd, 2015, which iswith
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1 achieve here today, but we do need to have 1 respect to the current indication. For bodily
2 some number in there so we can sum across. So 2 injury, wewant to give- accidents that
3 we' d just assume that the same level of taxi 3 occurred midway through 2015, those are going
4 purchases by coverage iswhat you see here, 4 to be aweighted average of accident year 2015
5 and you can see that third party liability in 5 and accident year 2016, and that’ s because the
6 2012, we had 816 earned exposures or earned 6 average accident date for 2015 isJuly 1, so
7 taxis, accident benefitswasdlightly lower 7 it'salittle bit earlier than that, so you
8 than that, so not all thetaxis purchased 8 haveto give someweight to accident year
9 accident benefits. Uninsured automobile, al 9 2015, and you'll see at the very bottom there
10 of them do purchase uninsured automobile 10 it says, "weights by accident year". Sowe
11 coverage, and we'll talk abit about the 11 give 2015 accident year thelosscost from
12 average premiums and stuff like that alittle 12 Column 17. Wegiveit 94.2 percent weight,
13 bit later on when | get to the C-1 Exhibit. 13 and in 2016, we give 5.8 percent weight. Those
14 Very few purchasecollision and very few 14 weights are determined by the number of days
15 purchase comprehensive, but about a quarter of 15 relative to the average accident date of the
16 them purchase specified perils, whichis a 16 individual accident year. So each accident
17 subset of coverages under comprehensive. So 17 year has an average date, and it’s generally
18 under the second section on this exhibit, if 18 around July 1. Sometimes it'll be July 2,
19 we could just dlide down alittle bit, what 19 sometimesit’ll be July 20th, it depends on
20 we'reseeing here aremodel loss costs of 20 the number of days and the year itself, and we
21 industry dataas at December 31st. Thisis 21 take the average of that. So thisallowsus
22 modelled loss cost not of Newfoundland taxis, 22 to for bodily injury, you can do aweighted
23 but of Newfoundland industry commercial 23 average of $360.78, which is thefitted loss
24 vehicles. This comes out of our trend 24 cost we're projecting for accident year 2015
25 analysis process. Asl’ll show alittle bit 25 for commercia vehicles bodily injury, and
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1 $376.78, and if you weight those two together 1 we'regoing to see here. Actuadly, it'sa
2 using the weightsdown below, you'll get 2 weighted average of the selected loss cost
3 $361.71. That'sour projection for accidents 3 that we're seeing on this page, so if we dlide
4 that occur on average on that date for bodily 4 down alittle bit until we see accident period
5 injury. This allowsusto determine aloss 5 2012, there we go, there’s two values for
6 cost projection factor for any accident year, 6 accident year 2012. For thefirst half, if
7 moving fromthat accident year as average 7 you go across to the final column, it might be
8 accident date, to that future date. So, for 8 alittle bit difficult to trace across, but
9 instance, if | want to determine afactor that 9 the valueis $313.19. That' s the average loss
10 takes me from 2012 accident year, | would 10 cost that we fitted for accident half 2012,
11 simply divide $361.71 by the loss cost 11 H1, and for 2012, H2, it's the next one,
12 projected fitted vaue for 2012, being 12 $320.06. Now the valuethat we have for the
13 $316.76, and that givesme away of moving 13 whole accident year is $316.76. It's a
14 from accidents that occurred in 2012 to my 14 weighted average of thosetwo values and we
15 projected level, July 23rd, 2015. We do this 15 weight it based on the earned exposures. It's
16 for each of the coverages. So you'll seefor 16 not an even split between the two accident
17 each coverage thereisa projected loss cost 17 years. So if we scroll down now to page 123,
18 based on the above, weighted average of the 18 thisis the underlying data that supports our
19 above, for the current analysis average 19 analysis, and if we go down to the bottom a
20 accident date of July 23rd, 2015. The factors 20 little bit, you'll see the exposures that we
21 themselvesthen, | believe, are on the next 21 have. That first column of numbers, you'll
22 pageif you scroll down alittle bit. For 22 see that for 2012-H1, and 2012-H2, the earned
23 each of these, we're simply dividing again the 23 exposuresin thefirst period is $11,448.00
24 amount that’ s in the column for the individual 24 and inthe second periodit’s $12,361.00.
25 accident year, and we'redividing that into 25 These are commercial vehicles for the
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1 the projected level for the July 23rd. So for 1 industry. Wewould weight those two sets of
2 2012, if you takethe $361.71, which isthe 2 loss cost that | talked about earlier, $313.00
3 projected value at 2015, July 23rd, and you 3 and change, and $320.00 and change, against
4 dividethat into the $316.76 that was the 4 thesetwo valuesto come up with the final
5 projection for accident year 2012, that ratio 5 value for 2012, being $316.76. Again thisis
6 is1.1419. That isto move from events that 6 for industry Newfoundland commercial vehicles,
7 occurred or claims that arise out of events 7 and this isthe basis that we modelled on.
8 that occurred in 2012, the average accident 8 Now | want to stay on this page for alittle
9 date, to that future average accident date, 9 bit and maybe just scroll up to give an idea
10 you need to increase them by approximately 10 of theoverall. Thisis our dataset that is
11 14.2 percent to get themto what we would 11 used for the trend analysis. I'll just get
12 refer to ason-level. We take these factors 12 you to scroll up just alittle bit more, so |
13 directly from this D-5 Exhibit and put them 13 can see the column headings. So again thisis
14 into the D-1, and that’s whereyou’'ll see 14 the Newfoundland commercial vehicle
15 these factors. All of the factors that you 15 experience. In Column 1, that's pulled
16 seein this table here make their way directly 16 directly from AIX. It'searned car years.
17 into the D-1. So from here, what | want to do 17 It'sthe sametype of idea that we talked
18 ismove into the Appendix B, but beforel do 18 about for the taxi, so one car insured for six
19 that - | can go right there, sorry. Soif we 19 months counts as half a car with respect to
20 go to Appendix B, Appendix B itself starts on 20 this. We have three sets of claim countsin
21 page 117 of the package, but | do just very 21 Columns 2 through 4. Thefirst oneisLifeto
22 quickly want to relate back to that bodily 22 Date Closed Claims, Column 3 is Open Claims,
23 injury loss cost fitted valuefor accident 23 and the fourth oneisour Ultimate, soit’s
24 year 2012 that we talked about a little 24 the sum of 1 and 2, plusto the extent that we
25 earlier, $316.76, and how that relates to what 25 think that recorded claims activity is going
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1 to go down or up, we would include that in our 1 Lifeto Date Claims Paid. For the most part,
2 ultimate. How can claim counts go down? The 2 you can consider these resolved. There may be
3 way that the datais captured through the AIX 3 some instances where we are able to recover or
4 system, if a clam is settled with no 4 salvage a subrogation, so your life to date
5 indemnity payment, it's no longer considered a 5 payments might actually go down, but for the
6 claim, so the count disappears and we reflect 6 most part, you can view that as this is
7 that. So to the extent that you got some open 7 aready done, it’s done and over with.
8 claim counts in 3, some of them might 8 STAMP, Q.C.:
9 ultimately disappear and resolve themselves as 9 Q. Andthese are dollar amounts, Mr. Doherty, in
10 zero, that is they got settled for no 10 thousands of dollars, are they?
11 indemnity payment and, therefore, it’s not 11 MR. DOHERTY:
12 considered a claim. Column 5 and 6, these are 12 A.ltisinthousands of dollars, yes. In Column
13 matrix that we useto help to view potential 13 8, it's Case Reserves. Again this is
14 uncertainty in our estimates. There's a 14 Newfoundland commercia vehicles for the
15 favourable and an unfavourable count. The 15 industry, and number 9 is Our Vauation
16 idea behind hereisthat the analystisable 16 Estimate. All the dollar amounts here are
17 to put in arange that allows him to say what 17 indemnity only. Thereareno industry loss
18 happens if claim counts are 5 percent 18 adjustment expenses, no industry ULAE put in
19 favourable, thatis lower than what we're 19 here. Because our analysis, our indication,
20 expecting, or if they’'re 5 percent higher. 20 and our workup is al on indemnity only due to
21 Now that’'s not relative to what's actually 21 theway that we compensate the service and
22 been reported and closed. We're not going to 22 carriage for the adjudication process, we
23 change those counts, those things are done. 23 don't do trend analysis, including any loss
24 What we're actually doing on the plus or minus 24 adjustment expenses. We focus only on the
25 on the favourable count is with respect to the 25 indemnity, and the indemnity trends that we
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1 difference between our ultimate claim count4 1 get out of this are applied to indemnity only,
2 and 2. Soif we go down to the bottom and 2 soit'saliketo like basis. So Column9is
3 look at accident year 2012, we have 12 closed 3 our view of the ultimate resolution of
4 claims for the most recent accident half year, 4 industry commercial claimson indemnity from
5 and we're assuming that ultimately there's 5 our valuation process. Our valuation guys go
6 going to be 71 clamsthat are resolved. So 6 through the same thing they would do on our
7 that difference between 71 and 12 reflects the 7 portfolio, but apply it totheindustry to
8 piece that’ s unresolved claims. If you focus 8 come up with these estimates of ultimate.
9 on that difference, then plusor minus 5 9 Again the difference between 9 and 7 is both
10 percent of that difference addedtothe 12 10 casereserves plus IBNR. In Column 10, 11,
11 would get you either 68 or 74 ultimately, so 11 and 12, or Column 10 and 11, | guess, we have
12 plus or minus 5 percent for us, favourable or 12 the same sort of concept that you could apply
13 unfavourable, means that if it's5 percent 13 to the unpaid amount, that is case and IBNR as
14 favourable, there are only going tobe 68 14 being favourable or unfavourable. So again
15 clams; if it'sunfavourable, it couldbe 74 15 thisgives usa sensefor how good or bad
16 claims. You'll seeonceyou go back abit, 16 might it look, and if the analyst is uncertain
17 the favourable and the unfavourablein the 17 on particular values, they can actualy go
18 claim count doesn’t really have an impact any 18 through and say what happens with my trend
19 more because most of the claims are actually 19 analysisif thingsare much more favourable
20 at that settlement piece. Again thisisjust 20 than what 1’m expecting or if they’re much
21 to give us an idea of potential uncertainty or 21 more unfavourable. For the most part, we
22 variability. If we scroll back up, I'll take 22 haven’t done alot of that analysis because we
23 alook at the next few columns then. Columns 23 haven't had thetime to doit, but it isin
24 7,8, and 9, are similar to the counts, except 24 there for the analysts if they have the
25 it' swith respect to amounts. So Column 7 is 25 opportunity to look at it. Aswe keep going

Discoveries Unlimited Inc., Ph: (709) 437-5028

Page 93 - Page 96




November 5, 2014

Multi-Page™

Verbatim Court Reporters

Page 97 Page 99
1 across then, I'mjust going to focus on 1 reflect the counts, and it’s been normalized
2 Columns 12, 13, and 14. Thesethen arethe 2 because you're putting it against exposures.
3 matrix that wewill belooking at for the 3 You can see - it’s hard to see, actually, but
4 trend analysis; its frequency, severity, and 4 there' sared dotted line and a green dotted
5 loss cost. In our model, we have the ability 5 line that are the favourable and unfavourable,
6 to do regression analysis on any one of those 6 but the black lineisour selected ultimate
7 three matrix, and typically while we're going 7 frequencies, and you can see there’ snot alot
8 through the exercise, if we build a structure 8 of variance that’s happening inthere. So
9 that is determine certain periods of time that 9 even at the plus or minus 5, you wouldn’t see
10 we want to include or exclude, that period of 10 a lot of difference becausethe main one
11 timeisavailable for frequency, severity, and 11 that’ s going to differ would be 2012-H2. So
12 loss cost, and we will typically look at the 12 inthis case the analyst might look at that
13 impact on all of those, but when we do our 13 and say, | don't really feel | need to do any
14 final selections, almost exclusively we do 14 additional work unless| spread out or think
15 rely on models that are frequency and severity 15 that there’s more uncertainty in my selection
16 and wearrive at our fitted losscost by 16 of claim countsand | need to pick something
17 multiplying the two of them together. 17 higher than aplus or minus5. If wedlide
18 (12:00 P.M.) 18 across, thenext chart that we'll see is
19 Freguency, severity, and loss cost are all 19 severity, and here - now thisagainisclaim
20 simple matrix that are driven from the actual 20 dollar amount per claim itself. Paidisthe
21 underlying data. Frequency is the clam 21 blue column, case reserves are the orange, and
22 count, divided by your exposures, that is out 22 then the black line represents the per claim
23 of 1,000 claims or out of 1,000 vehicles, we 23 IBNR, and we' ve got these bands around that to
24 capture frequency per 1,000 vehicles, you 24 reflect a plus or minus, and the plus or minus
25 would have 5.94 claims per 1,000 vehiclesfor 25 is reflective of the orange bar and the
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1 that first period that we're seeing under 1 implied difference between thetotal of the
2 Column 12. The severity recognizes then 2 two bars and the black line. Y ou can seethe
3 what’sthe averageclaim cost, soit’s the 3 impact of potential variation on that. Then
4 claim amount divided by the number of claims. 4 thefina chart that we have on here down
5 Inthat first casethen, it's $57,804.00 is 5 below isloss cost. Thetwo of them kind of
6 the average size of the claim, if you want, 6 combine, and again you can see the experience.
7 and then finally theloss cost, there's a 7 Now when we're doing the analysis, typically
8 couple of waysyou could deriveloss cost, 8 it startswith aview of this, and certainly
9 it'sall kind of the same, but we've just done 9 there seems to be some concern that we
10 it here simply as Column 12 times Column 13. 10 consider or look at a 20 accident year period.
11 Y ou could also do it by dividing the ultimate 11 My own personal view is| like tolook at as
12 claim amount by the exposures. You'll get the 12 much dataas | can. That'swhy we' ve moved
13 same answers, a couple waysto getting at it. 13 from afive year view in our indications to at
14 In this casethen, it's saying that for that 14 least looking at ten years. | think there’s
15 first one there's $343.36 of losses per 15 information you can glean from those earlier
16 vehicle in that particular period. Now if we 16 years, even if ultimately you decideto give
17 scroll down alittle bit, | just want to take 17 itno weight. When we're doing our trend
18 aquick look at some of the charts. Inthis 18 analysis, | think there’sgood information
19 particular case, the page that we'reon is 19 that you can learn from looking at a 20 year
20 bodily injury. So thefirst oneiswe have a 20 period, andin this particular case, when
21 view then of the entire 20 year period. 21 we're looking at the bodily injury, the
22 There’s40 accident periods in place here. 22 frequency, severity, in particular, | can-
23 The blue bars are closed, the orange 23 thisisabit of achallenge. | think I can
24 represents open claims. These are clam 24 see something that perhaps other people aren’t
25 counts - sorry, the frequencies, but they 25 seeing, but | still believe that there are two
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1 different periods that are reflective of 1 around the beginning of the 2004 period, the
2 trendsin thisloss cost data, and we'll get 2 frequency is around 6 per 1,000, and then
3 into that in aminute, but maybe we'll just 3 they’re dropping down to something less than
4 dlide up for the frequency for a second. Now 4 6, so | think there'sa decreasein trend
5 when we were looking at this, and | think it 5 there. | think, before that, one, it seems to
6 will become more evident if you start looking 6 be very volatile. 1'm not sure why there was
7 at the other piece, there appears, in my mind, 7 so much volatility in the claims frequency for
8 to be two distinct periods, and we know that 8 commercia vehiclesin Newfoundland prior to
9 thereis areform that occurred in 2004. Now 9 2004, but | think there was significant
10 the challenge is what impact does it have, and 10 volatility there, and | think that there was
11 whether or not it hasany impact at all. A 11 at least one trend. There may be two trend
12 $2,500.00 pain and suffering deductible was 12 periods in there, but because we're not going
13 introduced effective August, 2004. The 13 to be bringing forward any accident periods
14 introduction of adeductible, when| think 14 between 1993 and almost 2003, it doesn’'t have
15 about it, | have claimsbefore that were 15 ahuge impact on my analysis. While | might
16 brought and part of the claim was for pain and 16 get an analyst who wantsto diginto and try
17 suffering. The pain and suffering award - 17 and do more work on thoseinitia periods, |
18 sorry, the pain and suffering claim prior to 18 wouldn’t encourage it just because it’s not
19 thereform was at or below $2,500.00. After 19 useful information to have. Nonetheless, we
20 the reform, that claim disappears. So | would 20 did bifurcate into preand post 2004, and we
21 expect to the extent that there are claims 21 assume that it’s because of reform. When we
22 that are only for pain and suffering, some of 22 go over to the severity side, aswe look at
23 those claims where the award that they would 23 that, and these are very jagged lines, they’re
24 have gotten before the deductible, those 24 al over the place, but again when we look at
25 claims have gone now because your award is 25 it, we kind of see one period pre-2004 and one
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1 below the deductible. That cost is borne by 1 period post-2004, and that’s just looking at
2 the claimant, they have to eat the first 2 thisdata. Now when we actually go through
3 $2,500.00 of apotential settlement. On the 3 the exercise, we start with this, and we kind
4 severity - if al of the pain and suffering 4 of look at it, wetry not to get abiasin our
5 awards are above $2,500.00, then all those 5 mind on what’ s happening, but we want to have
6 cases potentialy would still be brought and 6 an understanding of how these things look. Our
7 there would still be some pain and suffering 7 first step then isto - we go through a number
8 awards. It’ sjust that each one of them would 8 of what we would call standard results. So we
9 be reduced by $2,500.00. In that case, there 9 would look at the full -
10 would be no impact on the frequency, but there 10 STAMP, Q.C.:
11 would be, obvioudly, an impact on the 11 Q. Mr. Doherty, before you go to that, justto
12 severity. Regardless of what theimpact ison 12 clarify where we are here, Appendix Aisa
13 the frequency or on the severity, removing 13 significant package of documentation, and, |
14 $2,500.00 from pain and suffering, in my view, 14 guess, in thefirst grouping of that, we have
15 should reduce the loss cost. Certainly if it 15 some 15 pages that toucheson the bodily
16 doesn’'t, you' d have to wonder why you bothered |16 injury component, do we not?
17 introducing legislation inthefirst place, 17 MR. DOHERTY:
18 and aswe get into it, I'll try and show where 18  A. Correct.
19 | see theinitial impact with 2004-H2, and 19 STAMP, Q.C.:
20 2005-H1, the impact of the reform on the loss 20 Q.Anda separate 15 pagesfollowing that for
21 cost. Nonetheless, as we look at the 21 property damage, and a separate 15 for
22 frequency and as we're looking at it, we 22 accident benefits and so on for all the
23 believe there' s at least two distinct periods 23 coverages?
24 certainly post-2004 reform. Wethink that 24 MR.DOHERTY:
25 frequencies have been dropping. If | look at 25  A.Yes.
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STAMP, Q.C.:

Q. Sowe're just looking at the bodily injury

package at the moment?
MR. DOHERTY:

A. Yeah, we'll focus on the bodily injury. That’s
where the - Il run through the process, but
the same process appliesto al the coverages.

STAMP, Q.C.:
Q. So when we look at the severity here, we go

© 00 N o ok~ WODN P

Page 107
We're effectively trying to draw a line
through the results so that we can say your
loss cost on that axis on your |€eft, thereis
some sort of relationship that we can derive
in relation to the time periods on the bottom,
and we can do it to such extent that we could
then use that relationship going forward to
project into future periods what loss cost
might be, but the key part isto first of all

10 back down to the chart below, which isthe 10 do the regression which is smply a
11 combined loss cost, right, it's a combination, 11 mathematical process of estimating what we
12 isit, of frequency and severity? 12 would call aparameter. Inthis case, the
13 MR. DOHERTY: 13 parameter that we'relooking at would be a
14  A. That'scorrect, yes. 14 trend factor. Determining that factor through
15 STAMP, Q.C.: 15 aregression is simply mathematics. Y ou take
16 Q. Soyou look at that. Asyou say, it'slots of 16 the values that you have and effectively
17 jagged points and dips and so on. You're 17 you're looking at differences and you're
18 trying to create from that jagged information 18 squaring them, but redlly it'strying to fit a
19 some information going forward that you can 19 line through a bunch of data points. That's
20 rely upon, isthat really what you'retrying 20 al it'sdoing, butit'sdoingitin avery
21 to do here? 21 mechanical way. There are a number of
22 MR. DOHERTY: 22 different ways you could draw that line to fit
23 A.Yeah, what we're going to do from aprocess 23 it through it. Least squaresis probably the
24 standpoint is determine whether or not there 24 most popular and that's what's built in
25 is arelationship between loss cost and time, 25 through the regression process. So we're
Page 106 Page 108

1 or loss cost and seasonality. | don’t know in 1 trying to fit aline through abunch of data

2 the beginning whether or not there is actually 2 points. Oncewefit that line, then we've

3 arelationship between thetwo of them. The 3 identified a parameter, an estimate of the

4 regression process that we go through allows 4 parameter, and in this case we would call that

5 you the opportunity to identify that, one, if 5 atrend, an annual trend. That's thefirst

6 there is a relationship, what is that 6 step of the process. The second step of the

7 relationship, but then further analysisis, is 7 process, though, isto look at the results of

8 that relationship you've identified 8 the regression to see whether or not it’s an

9 statistically valid and significant or isit 9 actual statistically valid connection between
10 just aresult of the mechanics of the process, 10 the two of them. Thefirst part is completely
11 and that’ s the key part. 11 mechanical. To come up with an estimate of
12 STAMP, Q.C.: 12 the parameter is straight mathematics. If you
13 Q. Beforeyou go there, what isthis regression 13 give me two columns of data, | can giveyou a
14 process? | mean, at a high altitude, what are 14 parameter estimate based on those two columns
15 you thinking about doing? 15 of data. We could do shoe size and income of
16 MR. DOHERTY: 16 the peoplein thisroom, and | could determine
17 A. Theregression processitself isreally we're 17 a parameter estimate for the relationship
18 trying to again identify whether or not 18 between shoe size and income, but that doesn’t
19 there' s a relationship between a particular 19 mean it's a statistically valid relationship.
20 matrix, frequency, severity, or loss cost, and 20 To do the second part, which isestablishing
21 in this case the main one we have istime. We 21 whether or not there’s astatistically valid
22 also have seasonality. We're looking to see 22 relationship between the two of them means you
23 whether or not thereis arelationship. A 23 haveto look at other regression statistics
24 regression analysisitself, aswe apply it, is 24 that come out of that. The onesthat help us
25 referred to as a "least squares process'. 25 to determine whether or notit's a valid
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1 relationship, one that you can rely on, or is 1 done your analysis, then you would put a"yes"
2 it simply a determination based on the noise. 2 in that particular column. Y ou would see what
3 Thefitting itself isbased on a concept of 3 the results are of excluding that point. I'll
4 the residuals or differences between the 4 talk about outliersin alittle bit. The next
5 actual result that you're seeing and the 5 oneisaparameter called season, and so your
6 fitting result. That differenceis called the 6 season in our structure islor 2. Youcan
7 residual, and the least squares process relies 7 put any indicator you want. Y ou can put 0 and
8 on squaring that and trying to minimize the 8 1, you could put 5and 10, it doesn’t really
9 difference when you do the squares of those 9 matter, all you need is an indicator to
10 residuals. That's all that we're tryingto 10 differentiate between thefirst half of the
11 do. 11 year and the second half of the year, sowe
12 (12:215P.M.) 12 smply use 1and 2. Thenext oneis All
13 STAMP, Q.C.: 13 Years. Thisisthe year parameter, and you'll
14 Q. So Mr. Doherty - 14 notice that we're using - in the first one,
15 MR. DOHERTY: 15 it's1993.25. That's because we' re taking the
16 A. And the mathematics that support it drive from 16 average accident date for 1993, the first
17 that. 17 half. So thefirst half covers from January 1
18 STAMP, Q.C.: 18 to June 30th. June 30th, we consider to be
19 Q. Arewe - to sort of try and get a 19 1993.5, it's half way through the year, but
20 understanding of what you're saying here, are 20 the average accident date for that first half
21 wetrying to draw aline, a straight line, or 21 isat .25. Thisalowsus, actualy - | don't
22 maybe several straight lines through thisloss 22 know if | wantto getintothat. Probably
23 cost data or through the severity data, or 23 not. It's neat for actuaries, probably boring
24 through the frequency chart you showed us, and 24 for everybody else. Then we have a number of
25 fit that line - that’ s the fitted line you're 25 other optionsthat the analyst has available
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1 talking about? 1 to him allowing him to choose scalars which
2 MR. DOHERTY: 2 alow you to move up or down, or have one time
3 A That'sright. 3 impacts for different periods, or you can add
4 STAMP, Q.C.: 4 in different periods altogether. The way the
5 Q. And thenonce you have that line, try to 5 analyst does that is through thefirst row
6 determineif that line means anything? 6 underneath the titteswhereit's 0'sor 1's.
7 MR. DOHERTY: 7 Soin thisparticular case, we have bodily
8 A.That'sright. It may help going through an 8 injury, itsfrequency. In this particular
9 example. I'll take you through frequency for 9 model structure that’s in front of you,
10 Bl, as an example. So | think it’s - you have 10 there's a0 for seasonality, meaning that
11 to scroll down for this one or scroll up - | 11 seasonality was not included in this mode.
12 can't remember. No, sorry, you have to go up. 12 All yearsisal. All theyearswasusedin
13 STAMP, Q.C.: 13 this model. Scalar 1 has al, so that
14 Q. Back tothefirst page, isit? 14 particular parameter wasused, and if we
15 MR. DOHERTY: 15 scroll down, you can see that it’s O for most
16 A.Yes | think itwould be maybe 124 - 119 16 of the years, but it becomes 1 at 2004-H2, and
17 maybe. Yes, perfect. Okay, so in this 17 that’ s because we've now - we believe that
18 structure that we have for our modelling 18 there’ s a second period where the underlying
19 process, you'll seein the box of data result 19 trend itself or for the scalar there’ s been a
20 that we have, the first column is called Chart 20 shiftinthe curve. The next column isfor
21 Periods. It'ssimply describing the period, 21 the trend associated with the post-2004. If
22 whether it'sby accident year or half. The 22 there'sno - there could be ashift inthe
23 second column is Exclude the Datapoint Yes. 23 curveitself, but not necessarily a changein
24 Well, if you are going to exclude a datapoint 24 the slope of the line that we're drawing. If
25 because you fedl it's an outlier after you've 25 there's no changein the slope, then we
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1 wouldn’t have that additional trend piece. We 1 it's going to cause a one time downward shift
2 would not pick that one becausethe trend 2 in frequency, you could build a model that has
3 itself, the long term trend hasn’t changed, 3 that built into it, and it would be different

4 we've just shifted theline, and I'll try and 4 than the fitted model because the model

5 show some of that down below. Maybewe'll 5 wouldn’t be able tofit it. It doesn't have

6 just scroll up ahit and continue with this 6 any datathat shows frequency is going to all

7 chart until 1 get through the whole piece. So 7 of a sudden drop, but you could build one that
8 just outside of it, the trend periods that the 8 doesthat. We have the capability of building
9 analyst has optionsto look at, the final ones 9 itin hereif that happens. Again for al of
10 are the frequency value. So thefirst column 10 the Newfoundland commercial industry trend
11 says, "From the valuation”. Thisis the actual 11 analysis that we' ve done with respect to this
12 frequency then that’ s brought forward. It's 12 particular filing, the selected models were
13 actual, it’staken from the datasheet. The 13 awaysthe regression fits. So now let me go
14 second column says, "regressed fit". Thisis 14 down alittle bit. Okay, sowe' veidentified
15 afitted value based on the model the analyst 15 the particular structure. If we could just
16 has selected. The third one is called 16 dlide down alittle bit more, I'm going to
17 "residual". Thisisthe difference between 17 focusa bit onthe charts. Okay, so the
18 the actual valuefor thefrequency and the 18 regression - the periods that we selected then
19 fitted value. Sointhat first one, you'll 19 are two separate periods. We're looking at
20 seeit’s5.94, and the regressed fit value is 20 thewhole 20 years, but we've bifurcated it
21 5.755, sothe residual. The part of the 21 into two periods. When we go through the
22 actual frequency for that year, that is not 22 exercise, the first thing, we havefive sets
23 described by theregression model. That's 23 of standard views that we have across all of
24 what the residual is, that difference, and 24 the jurisdictions. We look at private
25 that’ s an important difference. Most of our 25 passenger and commercial across all the

Page 114 Page 116

1 analysisis around that residual. If you're 1 jurisdictions that we have. In some cases, we
2 building amodel and you're able - our goal on 2 also look at motor cycles where we feel the
3 theresiduals iskind of two-fold. Oneis 3 industry has not enough experience in motor
4 they should look like they’ re random; that is, 4 cycles. Inall of those, wefirst look at

5 when you look at them you can'ttell if it's 5 what happensif you just do a regression

6 going to be up or down, and when you're 6 across al the 20 years assuming no

7 looking down, you should see pluses and 7 seasonality, but it’sjust a full on all the

8 minuses exhibited randomly. There shouldn’t be 8 periods, what does that tell you. Then

9 anumber of residualsthat are all positive 9 introduce seasonality. Then we have a
10 and then they goall negative. That would 10 standard one where we eliminate thefirst 10
11 indicate bias because your model is not 11 accident years, so we're only focused on the
12 showing residual asbeing random around O, 12 latter 10 accident years, and we split it into

13 they’ re too high and then they’re too low. If 13 two five year periods. Thisone isbecause
14 | saw that, then | would say your model is 14 what we foundis typically if you'rein a

15 missing something. Then the absolute value of 15 jurisdiction where there' saregulatory board
16 the residuals themselves, in an ideal world, 16 that doestheir own analysis, they typically
17 if the residuals are small, then you've 17 look at only the most recent 10 periods, and
18 explained a lot of what’sgoing onin the 18 they tend to split it into five year periods.

19 data. Thefinal column hereis called the 19 Thisgives us kind of aview of what the
20 Selected Model. Wedo alow the analyst to 20 regulatory body might belooking at. The
21 superimpose a model in addition to the 21 fourth one that we haveis referredto as
22 regression fit. We haven't used that in any of 22 "Standard Reform", and it doesn’t matter what
23 these, but if you can think about it, ina 23 jurisdiction you'rein, if reforms have been
24 case where you have product reform and you 24 introduced at different points intime, we
25 believethat it's going to affect frequency, 25 will split up the period into when those
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1 periods happened, and we found across all 1 residual charts become important as wetry and

2 jurisdictions reforms generally across many 2 analyze whether or not we believethat the

3 coverages are very good indicator of changes 3 model we havein placeislegitimate and it’s

4 intrends, and a lot of timesit actually 4 worthwhileto use going forward. So if we

5 happens in coverages that you wouldn't expect, 5 dlide up, | just want to look at some of the

6 that there isa reform that happens that’s 6 other - sorry, the other way. Thistable down

7 supposed to only reflect bodily injury, and 7 hereis called "Regression Statistics', and

8 yet accident benefits or property damage, 8 below it there's a table that says,

9 other changes that happen in there. It may be 9 "Coefficient" and some other funny acronyms.
10 that, you know, those types of reforms impact 10 The top part are output from regressions. Now
11 claimant behaviour, | don't know. All I'm 11 again the regression itself is amechanical
12 doing hereislooking at the data and saying 12 exercise, and you can do it in Excel. You can
13 are you telling me something that has changed 13 actually do it from First Principles. If
14 at about the same time the reform has 14 you've got two columns of data, you can come
15 happened. | can’'t even say for sure it was 15 up with the regression coefficients that
16 the reform that caused it. All | cansay is 16 you're seeing here yourself. You can
17 something changed at that point intime and | 17 replicate this process because itis just
18 want to reflect it, or seeif | reflect it, 18 mechanical. What we're trying to look at here
19 whether or not it’s statistically meaningful. 19 is, first of all, going back to what our goal
20 Now in this particular case, there’safifth 20 is, isthere arelationship between, in this
21 standard one that we dois alsotrying to 21 case, frequency and time, andis there a
22 replicate what - if we know that there’'sa 22 different relationship between frequency and
23 regulatory benchmark and we know what those |23 time over different periods. Here we've got
24 results are, we try and replicate that using 24 two different periods, a pre-2004 and post-

25 indemnity only. Typically, if there's a 25 2004. When you look down below and it saysa
Page 118 Page 120

1 regulatory review, it's on indemnity plus 1 coefficient, we've got options to have an

2 expenses. Wejust try and overlay it, and | 2 intercept season, all years, andthen the

3 might get a chanceto go into that alittle 3 variousscalars. You're only going to see

4 bit. Soin this particular case, after you've 4 coefficients on the ones that we selected we

5 done that initial analysis, you may do awhole 5 were actually modelling. So there’saways

6 bunch of other options. Y ou may split upin a 6 going to be an intercept that’s part of the

7 few different periods. Inthis particular 7 model itself. You'll seethere’s nothing

8 case, though, when we look at the result for 8 there for seasonality. It’s because we didn’t

9 frequency, just bifurcating the experience 9 choose seasonality asa parameter. We did
10 into two periods, preand post 2004, we get, 10 choose all years, we did choose scalar 1 and
11 wefeel, isagood fit. Thefirst thing that 11 we did choose trend 1. Aswe're looking at
12 we look at are some measures that are above, 12 this, we would go up to the regression
13 but I just want to show you the charts to 13 statistics and the first thing that we want to
14 start off with. The blue lineisthe actual 14 understand is does this regression model that
15 result of frequency that we got from that 15 we' ve put together actually explain changesin
16 first page that | talked about. | just put it 16 the data or explain the data.

17 inline instead of having all the barsand 17 STAMP, Q.C.:

18 stuff likethat. Thechart on thetop is 18 Q. Just before you go there with that analysis,
19 actual and fitted. On theright, the chart 19 are you saying that you did awhole range of
20 above isactual and selected. Throughout 20 lines-fitted lines, different regression,

21 this, those two are going to look exactly the 21 taking all the years--taking thisfive-year,

22 same because the red line - the selected model 22 that five-year, and we only see one of these
23 and the regression fit model are the same. 23 on this documentation here?

24 Below that, we have two residual charts that 24 MR. DOHERTY:

25 I’ll talk to in alittle bit aswell. Those 25  A.Yes.
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1 STAMP,Q.C.: 1 fitted lines that were created and that--there
2 Q. Sohow did we get to the decision to put on 2 was an analysis done?
3 this chart the fitted line, which isthe one 3 MR. DOHERTY:
4 that you're showing us, which is reform- 4 A Absolutely, yes.
5 fitted, | guess, and no seasonality--but there 5 STAMP, Q.C.:
6 are awhole bunch of other fitted lines that 6 Q.| mean, you are here with thisfitted line--
7 you've created that aren’t shown here? 7 MR. DOHERTY:
8 MR. DOHERTY: 8 A.Yes
9 A.Yes So, theoverall process that we go 9 STAMP,Q.C.:
10 through on the trend analysisis that we first 10 Q. -showing us thisfitted lineand you think
11 doitinternally, sothere’san analyst who 11 thisisthefitted line that isthe one that
12 doesthe initia regression views, and they 12 you wish to use?
13 start with the standards, but then they will 13 MR. DOHERTY:
14 start building other models as they deem 14 A. Correct.
15 appropriate. After that, it comes to me. | 15 STAMP, Q.C.:
16 will review the work that was done and then | 16 Q. Soyou discarded anumber of other fitted
17 will--if | feel it necessary, | will aso ook 17 lines. What was the process that led to their
18 at different periods. If | think that they 18 being discarded?
19 might have missed something or if I want to 19 (12:30 p.m.)
20 see what happens if you include or exclude, | 20 MR. DOHERTY:
21 might include seasonality to seewhat the 21 A.Yeah. Typically, wewould look at a number of
22 impact is, etcetera. Oncethat’s done, we 22 these statistics.  So, in comparing various
23 handle it off to our external partner, E&Y. 23 models, one measure of fitisR squared and
24 For themto review, first they do technical 24 you'll see it'sthere. Inthis particular
25 checks to make sure everything is fine in what 25 case, it's suggesting that what you've put
Page 122 Page 124
1 we ve actually done, and then they also come 1 together as your selection explains 64 percent
2 back with some views on the selections that we 2 of the variancethat we're seeing. The
3 have, because we do end up with amodel that 3 initial differences that you're seeing
4 we ve selected. They may throw in some options 4 happening in the loss cost over time, you can
5 of theirown. Once that’sdone, we get 5 explain 64 percent of it by having these two
6 together with E& Y, we talk about the pros and 6 periods and not having any seasonality. The
7 consof the various models that have been 7 trouble with the R squared measureis that
8 selected and then with ourselves and with E& Y, 8 it'sfineif you're only looking at one model.
9 we come up with what we would refer to as 9 If you're trying to compare models, R squared-
10 management’ s recommended trend. We would take 10 -it'sameasure that the more parameters you
11 that to the Facility Association’s Actuarial 11 throw at it, at aregression, the better that
12 Committee. Our Actuariadl Committeeis an 12 fit will be. Sointhiscase, if | added six
13 advisory board. It's made up of senior 13 more periodsand | added my shoesize as
14 actuaries from various members--I think it 14 another variable, |1 would get abetter fit
15 consists of 10 actuaries, and we present to 15 through the R squared, eventhough| don't
16 them the results of our trend analysis for 16 think my shoe size has any bearing on
17 discussion and we get their feedback onit. 17 commercial loss cost, but | would probably see
18 WE may end up, based on their feedback, 18 that R squared value increase just by adding
19 selecting a different model, or we may end up 19 that additional parameter. The adjusted R
20 with the same model that we had. 20 squared is another measure that adjusts for
21 STAMP,Q.C. 21 the number of parametersthat you're using.
22 Q. Beforeyou go any further in that, though, Mr. 22 So in this case, we're using three parameters.
23 Doherty, | think what | was trying to ask you, 23 We'reusing all years, we're using a scale of
24 and | haven't asked it very well, is to 24 one and we'reusing atrend one. Sothere's
25 address the extent to which there are other 25 three parametersthat arein here. If | want
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1 to compare the fit of this model to another 1 will start knocking out the parameters that

2 fit using this particular fit statistic, the R 2 have those high P valuesto seeif by knocking

3 squared kind of view of the world, and it has 3 them out, you get to aresult where all the

4 adifferent number of parameters, | really 4 parameters you selected are ones that we

5 should be using the adjusted R sgquared. So we 5 believe are dtatistically significant and

6 use the adjusted R sgquared just as our main 6 generally use a cut off of a P value of five

7 one. We'll go to that one first as opposed to 7 percent to help usto identify that. It

8 the R squared, just as a matter of course. The 8 doesn’'t mean that thereis now only afive

9 other part that we would look at is not just 9 percent chance you got it wrong. That’s not
10 the R squared, but we would also look at what 10 how tointerpret it. It just means that
11 we--we ook at the one that’s called P value 11 there's a five percent chance that the
12 in thetable below. When you'redoing a 12 parameter coefficient that you selected is
13 regression analysis, you are trying to address 13 actually being generated just by noise and
14 theresiduals. When you'redoing that fit, 14 it's not really true. Five percent means that
15 though, there’'s achance that through that 15 if you did 20 of these things, one of them,

16 calculation, you'regoing to come up with 16 you're going to get that result just by the
17 something that says|’m describing it, but 17 randomness, but in the other 19 it’s going to
18 it's really--it's just describing the 18 be due to actual relationship, and that’s why
19 randomness in the residuals themselves. It's 19 wecut it off. Thefive percentisa bit
20 not really describing arelationship. It's 20 arbitrary but it seems to be used quite often
21 misinterpreting the randomness as a 21 in socia sciences and | think it's
22 relationship, and so what we look at--and | 22 appropriate for us to adopt it here. We
23 think the preferred metric that Oliver Wyman 23 sometimes veer off of that if we believe
24 uses isthe T-gtatistic. The Pvalue is 24 something is going on that's not quite being
25 related to the T statistic, just changesit 25 picked up yet by the regression, but for the
Page 126 Page 128

1 into a percentage, and what we--what the P 1 most part, we use the five percent.

2 value tells you is that this is the 2 STAMP, Q.C.:

3 probahility--the coefficient that you've 3 Q. Okay. Soyou weretrying to get us from where

4 chosen or one of thissize happened just 4 you are in this chart--what we're trying to do

5 through randomness, that thereis really no 5 is get back to D-1, Column 15, and we're

6 relationship, this can just happen by chance. 6 working our way through thisin thisbodily

7 So when we're looking at the P valuesin our 7 injury component piece?

8 coefficients, we want to select P values that 8 MR. DOHERTY:

9 arelow. That is, there's alow chance that 9 A.Yeah. Sowhatwe endup, then, is-onthe
10 the relationship you' ve identified is because 10 frequency side, we ended up with a model,
11 of randomness and it's not really a 11 we're satisfied it s not--you know, it’s not a
12 relationship at al. Through the exercise, we 12 great fit, 52 percent described by the
13 normally refer to anul hypothesis, and the 13 regression, but it’s the best we could do with
14 nul hypothesis that we measure ourselves 14 the limitations of the parametersand not
15 against in all of these thingsisthat there 15 trying to over-parametize the model and have
16 is norelationship. The coefficient that 16 the impact due to that. There's another
17 you're actually seeking to identify isreally 17 metric that's in here, it's called the
18 zero, and soif you've got ahigh Pvalue, 18 Residuals Run Test, and for thisone, it gets
19 that means there’s agood chancethat the 19 back to the idea that your residual should be
20 coefficient you've identified is in fact 20 balancing around zero, and if you've got all
21 caused by randomness and you should really not |21 of them above and then all of them below,
22 reject the ideathat your coefficient is 22 given a number of points, you should be
23 really zero. Thereisno relationship. So we 23 switching back and forth. And so aResiduals
24 dolook at Pvalues, and if we've got trend 24 Run Test isjust looking to see are you going
25 structures and we have alot of P values, we 25 back and forth, areyou flipping back and
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1 forth between positiveand minus on your 1 between 2004-H1 and 2004-H2, at which time,
2 residuals in what looks like a random way, and 2 after that, frequencies were dropping, and
3 there' s atest statistic for that, and in this 3 again, you know, isit because of the reforms
4 particular case, theresidual runs, based on 4 in 20047 | don’t know, but we get a good fit
5 thismodel, we would say that they’re random 5 when | have those two periods, that
6 and so we end up--now there were some 6 bifurcation, and so it may be that that’s not
7 guestions on whether or not for bodily injury 7 the cause, but nonetheless| seea change
8 there should be seasonality in the frequency. 8 there, and we do get a good fit.
9 We tested for that and we rejected it based on 9 STAMP, Q.C.:
10 the P value but in general, with seasonality-- 10 Q. Andinsofar aswe'relooking to develop this
11 because we're only applying these thingsto 11 Column 15 trend factor, is thisone of the
12 full-on accident years, seasonality allowsyou 12 influencesto this factor?
13 to havekind of a saw actionthat you're 13 MR. DOHERTY:
14 reflecting that one half of the year performs 14 A.Sorry?
15 worse that the other half of the year and you 15 STAMP, Q.C.:
16 canreflect that difference. It typicaly 16 Q. Insofar aswe'retrying to develop the Column
17 does not have an impact on the slope of the 17 15 factorsin D-1, -
18 lineitself, it just creates abetter fit 18 MR. DOHERTY:
19 because you' re accounting for the jaggedness, 19 A.Yes
20 but thedirection and the slope typically 20 STAMP, Q.C.:
21 doesn’'t change. It doesn't mean it doesn't 21 Q.- isthisfrequency declining from that period
22 change ever, but typically it won’'t--it 22 one of the influencesin that -
23 doesn’t have an impact, and in this particular 23 MR. DOHERTY:
24 case, wetested for it and the parameter 24  A.Absolutely. So we actually have fitted
25 didn’'t satisfy our requirements so we rejected 25 values. The red line is actual fitted
Page 130 Page 132
1 it. Sowe ended up, for bodily injury, saying 1 frequencies, then, which will show--actually
2 that post the 2004 reform, frequencies for 2 go into our determine of the fitted loss costs
3 commercia vehiclesin Newfoundland havebeen | 3 going up. | do want to just touch briefly on
4 decreasing by 2.3 percent per year as our 4 theresidua plot down below. So we take the
5 estimate for that trend parameter. Now if we 5 differences between the blue dots and the red
6 go to the flip side on the severity - 6 dots--or thered line--and | apologize, this
7 STAMP, Q.C.: 7 isan earlier version of our trend model, so
8 Q. Beforeyou gotothe severity, can wejust 8 unfortunately in this version we didn’t align
9 look at the chart again, your line, your 9 theperiod. Soin the upper chart, it goes
10 fitted line for frequency, show us the chart, 10 from 93 to 2017, because we wanted to get
11 what you' re talking about, what--this decline? 11 that forecast period. In thelower oneit
12 MR. DOHERTY: 12 goesfrom '93t02012. So youcan'tdo a
13 A Yes 13 direct comparison between thetwo. We have
14 STAMP, Q.C.: 14 corrected that.
15 Q. Sowhat haveyoudone? Whatis thischart 15 STAMP, Q.C.:
16 revealing? 16 Q. Thetop one and the onebelow it don't line
17 MR. DOHERTY: 17 up, in other words?
18 A. Sothis isactually the result. Thewhole 18 MR. DOHERTY:
19 process of the regression isto come up with, 19 A.Yeah. They don’t line up, exactly.
20 really, aline. Youcandraw theline. And 20 STAMP,Q.C.:
21 because we have two different periods, you can 21 Q. Yeah.
22 see between 1993 and 2003--1 guessit’s 2004- 22 MR. DOHERTY:
23 H1, an upward sloping line. That is, through 23 A.Youkind of havetolean back a little bit,
24 that period, we seefreguencies increasing 24 but you will seethat there’ sthree or four
25 annually, and then there was a one-time drop 25 data points that are well above the zero line,
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1 and that’ s where you might come back in after 1 that’ s not important to us, to--because we're
2 the analysisto say that may be what we would 2 looking at comparing different model s which--
3 refer to as outliers. They’re residuals that 3 al the time we're trying to compare the full
4 are significantly different than our fitted 4 20-year period. So relatively it's not
5 line, and at that point in time, the analyst 5 important to have, you know, the perfect fit
6 would--if he felt it necessary, if he felt 6 only for the period that we' re interested in,
7 that they were outliers, he would want to test 7 that we think is going to influence our
8 whether or not they’re influential outliers, 8 indication, but | want to emphasize, while we
9 meaning that their inclusion is having a 9 looked at 20 years, it's--afit on the most
10 significant impact on your fitted result. And 10 recent eight yearsisthe one that’ s actually
11 so hewould go inand oneat a time, remove 11 used that has an influence on our indication.
12 them. Well, if you remove one of them, you 12 STAMP, Q.C.:
13 may have anew line because you know, it'sa 13 Q. Soif this wereastraight lineal theway
14 calculation and now you've removed one data 14 from '93 to '17, for example, a single
15 point, you'll get adifferent calculation. 15 straight line, which would be fitting asingle
16 Whether or not it’s a better fit or not is-- 16 lineto al that--to al those periods, you
17 that’swhat you would want to analyze. In 17 could have done that, | guess?
18 this particular case, we were more interested, 18 MR. DOHERTY:
19 for the purposes of our indications, of what 19 A.Wedid do that, yes.
20 happened after 2004, and so we--again, we 20 STAMP, Q.C.:
21 didn't spend alot of time tryingtodo a 21 Q. Allright, and | presume it wouldn’t capture
22 perfect fit on the frequencies prior to 2004- 22 what sort of, to me, intuitively, seemslike a
23 H1 becauseit wasn’'t going to influence our 23 bit of an upward trend for awhile and then a
24 results, because we'renot using that data 24 bit of a downward trend in frequency? That
25 point, even though in the two thousand and-- 25 wouldn’t be captured the same way in asingle
Page 134 Page 136
1 you know, we do have 10 accident years that 1 line?
2 we're showing. 2003 isbeforethat reform 2 MR. DOHERTY:
3 period. We just didn’t feel it was necessary 3 A.No. When you do the residual runs, you would-
4 to go through that exercise, but if you look 4 -the way it would fit--well, | mean, I'd have
5 at the residual plots post-2004, you can see 5 to go back and take alook at it, but yeah, |
6 they look kind of randomly scattered around 6 think it would be very challenging to fit that
7 the zero point and that again is what's 7 but--and obviously when welooked at it, it
8 reflected in our residua runs. It's aso 8 wasn't as good afit as this, so we accepted
9 reflected in the fit itself that the residuals 9 this one.
10 are pretty narrow around the values 10 STAMP, Q.C.:
11 themselves, soit’'s near around the zero. 11 Q. Okay.
12 Pre-2004, for whatever reason, the frequency 12 MR. DOHERTY:
13 was significantly--appears to be significantly 13 A.Sothenif welook at the severity, | think
14 more volatile. You get significantly more 14 you have to go--like scroll down to the next
15 stuff going on in the residual plot. Now our 15 page, like 21 or 22.
16 squared value that we talked about is a 16 STAMP, Q.C.:
17 measure of fit, measuresthis entire fit. Now 17 Q. Thecouple of pagesthere.
18 | could get a much better fit if | completely 18 (12:45 p.m.)
19 excluded the 2004-H1 and prior periods. | 19 MR. DOHERTY:
20 would get the same sloping ling, it’s just 20 A. Sothistop part, it’'s the same thing and the
21 that now I’'m not trying to fit that very bumpy 21 same structurethat you had seen for the
22 stuff and so my R squared value would go way 22 frequency, except now in those columns of
23 up, I’ d be describing much more, it happens, 23 actual values, it’ s the severity values. Now
24 because my residuals are much smaller post 24 here we included the same periods. So one of
25 that. Wejust didn’'t doit becauseit's-- 25 the concerns you would typically have is that

Page 133 - Page 136
Discoveries Unlimited Inc., Ph: (709) 437-5028




November 5, 2014

Multi-Page™

Verbatim Court Reporters

Page 137 Page 139
1 if you are modelling frequency and severity 1 slope of the line after 2004 by excluding this
2 separately and you choose different periods, 2 data point is actually--reduces the trend. |
3 there may be a relationship between frequency 3 believe it was over eight percent if you
4 and severity that iscausing a problem when 4 included that point, and it’s-I think it was
5 you're putting the two pieces together, and 5 6.6 percent after the trend.
6 we'revery cognizant of that. So wewould 6 STAMP,Q.C.:
7 typically only choose different periodsif we 7 Q. I'msorry. | didn't catch that, Mr. Doherty,
8 felt that there was really something 8 just -
9 underlying going on differently, and we would 9 MR. DOHERTY:
10 still, even then, try to make sure that we're 10 A.lthink it'ssomething around eight percent
11 aligning them somehow. So if you think about 11 prior to--when you included that data point.
12 it in terms of we had frequency two different 12 When you removeit, it comes downto 6.6.
13 periods, if we thought something was happening |13 Whatever the valueis, we'll seeit -
14 in severity in that second period, we might 14 STAMP, Q.C.:
15 split up the second period, but we wouldn’t 15 Q. Sothe effect of the exclusion of that single
16 try to make two periodsthat didn’'t overlap 16 data point lowered or raised trend?
17 properly with the frequency. We try and avoid 17 MR. DOHERTY:
18 that because of concern that thereis some 18  A. It reduced the trend.
19 sort of relationship or correlation between 19 STAMP, Q.C.:
20 frequency and severity, that we might be 20 Q.Andso what did that--how did that impact
21 messing up or not appropriately accounting if 21 indications?
22 we have different periods. Now | want to 22 MR. DOHERTY:
23 scroll down a little bit because in this 23 A.All esebeing equal, itwould create an
24 particular case, we did exclude a data point, 24 indication that’s lower than if you had
25 we excluded 11-2. So again, on the frequency 25 included that data point.
Page 138 Page 140
1 side, we identified some thingsthat could 1 STAMP,Q.C.:
2 potentially have been outliers that you might 2 Q. Okay. So by that single data point being left
3 want to analyze. Inthisparticular case, 3 out, Facility’ sindications are lower?
4 when we did the original analysis, the analyst 4 MR. DOHERTY:
5 would have done it with all the data points 5 A.Yes Okay,| wantto sideup because | do
6 and then once he or she did the results, they 6 want to look at the output of this. Okay, so
7 identified that through their analysis of the 7 first of al, the R squared, it’s not a great
8 residuals, one was significantly outside--and 8 fit, it's only 35 percent of--the variance
9 maybe we'll just scroll down and take alook. 9 that we're seeing in the severity is actually
10 The results here aren't prior to the 10 explained, and it’s because there’'s alot of
11 exclusion. Keep going down, | want to just go 11 volatility in theannual severity. | also
12 down to the next one. So you can see to the 12 want to draw your attention to the all-years
13 right there' sa blue datapoint that’swell 13 factor of P value, it's 72 or amost 73
14 abovetheline. Now there's awhole bunch of 14 percent. Normal circumstances, we would say
15 themin the pre-2004 period that are also 15 you need to reject that parameter because the
16 abovethe line, but the analyst again was 16 test says it's not--the coefficient that
17 focused onwhat’'s happening post-2004 and 17 you've picked is caused by randomnessin the
18 there was a significant one for 2011-H2 that 18 residuals themselves, it's not actually
19 was deemedto beworthy of analysisas a 19 different than zero. But if you actually look
20 potential outlier, that is having an influence 20 at the coefficient, it's almost zero anyway.
21 on the results that maybe it shouldn’'t ought 21 Soin fact, the reason we decided to leave
22 to be allowed to have. And so they excluded 22 this one in--and we would have removed it, but
23 it and tested it, you get a different result, 23 the reason we decided inis because it's
24 and so we deem that as an influential outlier, 24 effectively zero aready. So by discarding it
25 and it should be excluded. The result of the 25 you make it zero; it's effectively zero
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1 aready. And if you dlide down and look at 1 MR. DOHERTY:

2 the chart, you can see that as a straight flat 2 A .Yeah?

3 line pre-2004. There's a dlight decline 3 STAMP,Q.C.:

4 because we're saying there’ sa dight lowering 4 Q.- arethey actual events, actual circumstances

5 trend if you leave that parameter in, but it’s 5 that--is this history?

6 barely noticeable, and again it’'s pre-2004, so 6 MR. DOHERTY:

7 itwasn't really important to our analysis, 7 A.Yeah. Thisisthehistory, it's--and the blue

8 but looking at it now, | would say just from a 8 dots represent the difference between the dot

9 process standpoint, we should have just 9 that you would see on the fitted result, the
10 knocked that one out and we should have just 10 actual result itself--the difference between
11 made it zero as opposed to amost zero. And 11 that and the red line for that dot. So again,
12 again, if youlook at theresidual plot down 12 it'sthe residual, it’ s the difference between
13 below, now thisone isinteresting because 13 actual and fitted. So our goal idedlyis
14 you'll see that there'sa lot pre-2004 where 14 that you’'d be able to build a model where the
15 there' salot of potentia outliers above, not 15 residuals are very small, they’re random
16 so many below. Likeif you look at the scale 16 around zero. If you've donethat, you've
17 on theright, it says plus or minus--well, the 17 explained alot of the variance that you're
18 lower scale is minus 30,000 and the upper is 18 actually seeing, and maybe something happened
19 40,000, but if you focus on maybe things being 19 inthe past, that you could introduce some
20 plusor minus 20,000, there's anumber of 20 other variable that you know about that can
21 points that--where the residuals are more than 21 help explainit. | don’t know what that might
22 20,000 outside of it, but they all seem to be 22 be, but if you could, maybe that would help to
23 up, and so when we're doing an analysison 23 explainthe model. And certainly one of the
24 this, the worry isif you start knocking out a 24 concerns we always have doing these types of
25 whole bunch of outliers, you could end up 25 analysesiswhat’s called parameter omission

Page 142 Page 144

1 removing a big chunk of the data, and when you 1 bias. If there isan additional parameter

2 remove abig chunk of the data, then our 2 that you’ re omitting because you don’'t know it

3 challengeisareyou really representing the 3 or it’s unobservable, and those are the worst

4 data or are you ignoring the fact that there’s 4 ones, what you're seeing asresiduals are

5 alot of volatility here? And again, because 5 actually differencesthat could be explained

6 thisdidn't have an influence on our trend 6 by this other data that you don't have

7 post-2004, we ignored it--but evenif they 7 available for you. | know alot of--you know,

8 didn't, | would be challenged if my analyst 8 in the financial world they worry alot about

9 came to me and said I’ ve decided to knock out 9 that stuff andthat's why they--in their
10 those four earlier data points, | would say, 10 regression models, they bring out all kinds of
11 you know what, there's just a lot of 11 stuff to satisfy themselves that they’ve
12 volatility, | don't know what it is, | think 12 reduced the risk of omission error as much as
13 you might be biasing the selection of how it 13 possible, but I'm--you know, I'm fine with
14 aligns because you’'ve knocked out four high 14 wherewe are and the dataand the approach
15 ones but you haven't knocked out any low ones. 15 that we' ve taken on this. So we end up then
16 So you're pushing the severity line down. 16 with--again, like with the frequency, we did a
17 Even though it'saflat line, you' d be pushing 17 number of models using different time periods
18 it down relative to where| think it should 18 and thiswas theone that wethink makes
19 be because it seemed to be pre-2004 there were 19 sense, and when we look at the data, to usit
20 anumber of periods where you had these what 20 makes sense that for whatever reason,
21 appear to be very high levels of severity for 21 frequency pre-2004 seemed to be flat but quite
22 whatever reason. 22 volatile and post-2004, it's been increasing
23 STAMP, Q.C.: 23 and perhaps not quite as volatile aswhat it
24 Q. This severity residuals plot, those blue 24 was previoudly.
25 boxes, - 25 STAMP, Q.C.:
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1 Q. Soyou have now looked at the frequency and 1 severity, you're kind of missing a potential
2 severity for bodily injury for the trending 2 parameter inthere. Now there's a large
3 purposes. Doesthisbring you back to the 3 concern with collinearity between frequency
4 first--or maybe it'sthe--thefirst page of 4 and severity. The regression modelling maybe
5 the - 5 isn't the right type of modelling to try and
6 MR. DOHERTY: 6 capture that. Y ou might want to look at some
7 A.Yeah. So | think we havetogo up to 118, 7 other type of modelling, maybe generalized
8 maybe? Yeah. So thosered lines that we had 8 linear regression or something else, but I'm
9 are--the data pointsthat support it are 9 satisfied it’s not an issue, I'm satisfied
10 represented as selected frequency of that 10 with the results that we have and I'm
11 column, the selected severity of that column 11 satisfied with theend result. Here we're
12 and then the selected loss cost and we also 12 showing a bodily injury increase post-2004 of
13 show on here the actual values so you can see 13 4.4 percent annually. Now we did tests, and
14 the comparison for yourself. We replicate the 14 the one of the other tests that we do--and |
15 fitted and actual charts for each of 15 don’'t think | mentioned but through all of
16 frequency, severity, and then when we get to 16 this modelling, we always do--what we kind of
17 loss cogt, the fitted loss cost is just the 17 doisa walkback, because one of thethings
18 frequency multiplied by the severity, and so 18 we're interested in is certainly have the
19 if you slide down--I think maybe just before 19 trends changed, right? So in here we
20 we dlide down, and again, you know, I'm 20 bifurcated between pre- and post-2004 and just
21 satisfied with the frequency, I'm satisfied 21 looking at the loss cogt, | think there was a
22 with the severity. They'regoing in two 22 change not so much maybeinthe slope--the
23 different directions, but to me that’swhat’s 23 slopeslook kind of similar although they’re
24 reflected in the dataitself. Soif we dlide 24 not exactly the same, but there is a one-time
25 down and just look at theloss cost chart. 25 drop down--but maybe post-2004, in that eight-
Page 146 Page 148
1 Too far; thereyou go. Soif you put those 1 year period we have after that, maybe the
2 two pieces together, then you get this result 2 trend has changed again. Maybeinstead of
3 that again you have two periods. It'sabit 3 having one period that has a4.4, maybeit
4 more of a chalenge, | think, to see onthe 4 went down or went up, and so we do what we
5 losscost. You know, there' s pre-2004 and 5 call awalkback where we would--we don't like
6 then you've got this post-2004 period. 6 to do anything more than three years, because
7 There' s asignificant amount of volatility in 7 | think once you get three years, you're
8 loss cost. That volatility post-2004 is 8 dealing with six data points, you'reredly
9 driven by the severity, not so much the 9 introducing alot of variance due to noise and
10 frequency. Pre-2004 1 think thereis both 10 it'svery hard to model that few data points.
11 frequency and severity that were driving all 11 So we would typically start with five. Now in
12 of those changes, and | think that if you're 12 this case, we were challenged because we only
13 just looking at loss cost, you would be really 13 had aperiod that waseight long, so--we
14 challenged to try and identify periods without 14 started with four, and our goal then iswe
15 doing alot of work. If | were looking at 15 would just bifurcate that period, that eight-
16 just the losscost, | might think thereis 16 year period. We said okay, what if there's
17 potentially one period that ended in’99 and 17 two periodsin here and we're not capturing
18 then something happened after * 99 or maybe-- 18 that change? And so wetested for that and it
19 I’m not sure how | would interpret that if | 19 came back and said of course, | can giveyou
20 was just looking at loss cost. But the 20 those parameters, | can tell you the slopeis
21 reason, again, we look at frequency and 21 this and the dlope is that, but if you look at
22 severity separately isagain the worry that 22 theresults, it'snot a validfit. You're
23 through--you get omission bias, and so by only 23 modelling noise, you're not modelling what's
24 looking at the loss cost but not |ooking at 24 going on, and so we rejected that both for
25 the underlying changes in claim frequency and 25 frequency and severity. That doesn’t mean
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1 that thereisn't an underlying change that’s 1 determination on what the potential impact of
2 happening in 2009 or 2010 or 2011. That 2 that is. Now I work for the Facility
3 hasn’t been long enough to manifest itsalf, 3 Association and | work on behalf of management
4 and part of our exercise next time certainly 4 in going through these exercises, and my view
5 isto continue doing that test because we want 5 with respect to the benchmarking trends that
6 to see--the biggest challenge we faceis has 6 are produced by--and publicized by the PuB in
7 the underlying trends changed during our 7 Newfoundland and referenced in their filing
8 periods that we' ve selected, and in this case 8 guidelines, there' s not enough information in
9 we looked at it but we didn’'t find evidence of 9 the directivesthat are posted for me to be
10 that. 10 able to take responsibility for that work if |
11 STAMP,Q.C: 11 wereto chooseto useit as part of my work
12 Q. So how isthisinformation then that you’ ve-- 12 product. However, Oliver Wyman does produce a
13 the trend model you've comeup with, the 13 report that provides some detail into their
14 information, the datayou’ve generated, how 14 process of determining those trends. Again,
15 doesthat find itsway back to--in what way 15 inmy view, there's not enough information
16 doesit get tranglated back to Column 15? 16 that’s provided in there for me to be able to
17 MR. DOHERTY: 17 take ownership of that, so | would not take
18  A. Sothisfinal column of Fitted Loss Costs, so 18 responsibility of that work, and as such, |
19 you see--and again, I'll look at 2012, so we 19 need to provide management with a view of what
20 have that $30.06 as a fitted vaue for 20 does it mean and what would you do if you did
21 accident year 2012-H1--or-H2, and then-H1 was |21 it. Sowego through thisexercise, and |
22 $313.19 and again, we wait those two based on 22 would do it probably anyway, but nonetheless
23 the exposures of those two periods to come up 23 in my view there's not enough information
24 with atotal loss cost for the accident year 24 provided in the report for meto be ableto
25 2012, and when you go back to D-5--1 think 25 rely onthe trendsthat have comeout of
Page 150 Page 152
1 you'relooking at Page 161. Let me scroll 1 Oliver Wyman'sreview and useit as my work
2 down alittle bit more to the model loss cost. 2 and take responsibility for it.
3 You'll see accident 2012 there. Thefitted 3 STAMP, Q.C.:
4 loss costis $316.76. That's a weighted 4 Q. Andwhat kind of information isit you're
5 average of the two values that we had for the 5 looking for to assist you to do that?
6 two halves. 6 MR. DOHERTY:
7 STAMP, Q.C.: 7 A.l would be looking for the fits statistics,
8 Q. NowwhatI'dlikeyouto do, Mr. Doherty, if 8 the P values and determination of the
9 you can, is--thisis the process you followed, 9 coefficientsthat they’veidentified, these
10 Facility followed, and | gather Oliver Wyman 10 trend factors that they’ ve identified and that
11 followed a different kind of process? 11 they’ve selected, how well do they describe
12 (1:00 p.m.) 12 the data. Now, the other part of it is| want
13 MR. DOHERTY: 13 to be ableto apply thosefactorsin away
14 A .Yeah. Somaybejust to predicate alittle 14 that | understand relativeto my review. My
15 bit, Canadian Institute of Actuaries 15 indication structure hasten accident years
16 Standards of Practice, there's a section 16 and | need to beable to takethose ten
17 called 1600, it refers to another person’s 17 accident years and the claimsthat | currently
18 work, speaks to the actuary’s choice of using 18 estimate for those ten accident years and
19 another person's work and either taking 19 project them forward to that future period to
20 responsibility for it or not taking 20 make it look asif those events underlying the
21 responsibility for it, and you cando that 21 claims occurred in that future period. Soll
22 through an exercise like this. If you're not 22 need to have factors that go back at least to
23 going to take responsibility for the work, but 23 accident year 2003, so that | can bring those
24 you're going to useit, you need to make the 24 forward and at least look at them, even though
25 users aware of that so that they can make a 25 I may not decide to use them or give them any
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1 weight in my process. The presentation of the 1 them.
2 trend parameters that are estimated through 2 MS.GLYNN:
3 the processin Oliver Wyman’s Report doesn’t 3 Q. Doyou havetheRFI?
4 really tell me specifically what periods| can 4 MR. JOHNSON:
5 apply thoseto. Asl understandit, | can at 5 Q. lthink it would also be Consent 4, | believe.
6 least apply those to the most recent five exit 6 MS. GLYNN:
7 yearsof experience, but I'm not sure it's 7 Q. Wdl, we haven't entered any -
8 meant to be applied to periods prior to that, 8 MR. JOHNSON:
9 soit'sabit of achallenge for me thento 9 Q. Oh,I'm sorry.
10 rely on those on that respect. 10 STAMP, Q.C.:
11 STAMP, Q.C.: 11 Q. Are you looking at the questions and
12 Q. Mr. Doherty, before you get intothat, is 12 responses, the responsesin particular that -
13 there an implication for the indemnity only 13 MR. DOHERTY:
14 and then indemnity plusin the two analysis? 14 A.No, this would be Oliver Wyman's actual
15 MR. DOHERTY: 15 report. The Consumer Advocate requested it, |
16 A. Potentially and certainly | believe that was 16 think it was CA -
17 addressed in Oliver Wyman's report. Their 17 STAMP, Q.C.:
18 view isthat the adjudication expenses, both 18 Q.16 of May, 2014? Oh,I’'m sorry, you're
19 internal to acompany and external to a 19 looking at the benchmark discussion?
20 company, when you put that altogether for the 20 MR. DOHERTY:
21 industry, they’re probably moving aligned with 21 A.No, I think that’sthe revised final report.
22 the indemnification. That may be the case, | 22 No, it's thefirst request for information
23 don't know, I’ve not independently tested 23 that the Consumer Advocate had for Oliver
24 that. For me, it's not really relevant 24 Wyman.
25 because I'm only looking at indemnity facility 25 MR. JOHNSON:
Page 154 Page 156
1 association’s cost structure with respect to 1 Q.CAPUBL It'salso Consent 4 if you went to
2 the servicing carriersisonly that the cost 2 go there.
3 structureis different than the industry and 3 MR. DOHERTY:
4 so, a trend anaysis that includes the 4 A.Yeah, I think it'scao1l. Sowhat | would
5 expenses, if I'm going to do it, I’'m not going 5 liketo do isjust kind of walk through the
6 to do it with the expenses, it doesn’'t apply 6 report and identify a few thingsthat, you
7 tome. | can’'t determine whether or not the 7 know, is different, highlight some differences
8 inclusion of expenses would have an impact or 8 in the way that we approach things and where,
9 not. | would haveto do aseparate analysis 9 you know, some thoughts for consideration on
10 for that. 10 it. Soif you move down to page 2, the first
11 STAMP, Q.C.: 11 part of Oliver Wyman’ s report, they talk about
12 Q. Allright. Soyou weregoingto, | think, 12 the process and why they’re doing this. They
13 takea look at what Oliver Wyman has, the 13 emphasizein thisthird paragraph that past
14 approach that they took? 14 trend rates should reflect the underlying
15 MR. DOHERTY: 15 trend patterns that occurred during the
16 A.Yes, soif we can maybebring up Oliver 16 experience period and aswetalked about, |
17 Wyman's Selected Trend Rate Report, | believe 17 fully agree with that, the experience period
18 it was provided to the Consumer Advocate at 18 that we're actually going to be using isthe
19 one of their information requests. 19 most recent five and that’ s why we' ve focused
20 STAMP, Q.C.: 20 onthat period, but we are--wedidn't pull
21 Q.I'm sorry, what didyou say justthen, | 21 information for thefull ten accident years
22 didn’'t catch what you said. 22 and that's why wefelt it was important, |
23 MR. DOHERTY: 23 think it'simportant anyway but just look at
24 A. Sorry, the Consumer Advocate requested Oliver 24 the full twenty years, but we believe that the
25 Wyman’sreport. | believe it was provided to 25 trends that we selected reflect the most
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Page 157 Page 159

1 recent five year experience period. It,in 1 data, we usethe samedata, except we did

2 fact, reflects an eight-year period, but it 2 indemnity, not including the allocated loss

3 also appliesto the most recent five years, 3 adjusting expense and the ULAE (phonetic)

4 and | also agreethat inthe next paragraph 4 factor. They do go on to say that the derive

5 that actual judgment is applied. At the 5 annual loss rates based on aregression model.

6 bottom of that paragraph, the paragraph starts 6 Throughout their final report and in comparing

7 with the identification of other line trend 7 to what we do, there does seem to be an

8 patterns, but the last sentence, 1 think, is 8 implication that when you're doing these

9 important. Starting the third from the bottom 9 regression fits, you should try and estimate
10 line, "And without certain data points that 10 your parameter for thetrend by looking at a
11 are considered to be statistical outliers and 11 whole bunch of different windows of datain
12 over time periodsthat arelonger than the 12 your period. | don’t subscribe to that view.
13 experienced period asameans of increasing 13 | believeif you think that thereisatrend
14 stability reliability of the dataanalyzed." 14 that covers a period, you use all the datain
15 Clearly the latter part, we would certainly 15 the period to determine what that parameter
16 agree with. We believe that you should look 16 is. 1 would not recommend that you look at
17 at the entire data set that’ s available to you 17 the period and then take a subset of it, come
18 and test whether or not trends had changed 18 up with a parameter estimate for that, take
19 over time. Sowe' refinewith that, andin 19 another subset of the same data, come up with
20 principle| agreethat certain data points 20 aparameter estimate for that and then average
21 that are considered to be statistical outliers 21 the two parameter estimatesthat you haveto
22 should be tested to see whether or not they’re 22 come with your final estimate. | believe the
23 influential outliers and whether or not then 23 strength in the regression processitself of
24 they should be excluded from your model. 24 linear least squares of coming up with one
25 STAMP, Q.C.: 25 estimate of that parameter that in the case of

Page 158 Page 160

1 Q. Soisthedecision to identify an outlier made 1 using aregression, it superior to then trying

2 after the testingis done or before the 2 to come up with different estimates for that

3 testing is done? 3 same parameter using different periods of

4 (1:14p.m.) 4 time. Much inthereportand I’'ll touch on

5 MR. DOHERTY: 5 thisalittle bit later, you know, looking at

6 A.Wdl our approach is after the testing is done 6 different snap shots within periods and saying

7 because again, our view isit'sa residual 7 that you get adifferent parameter estimate

8 exerciseand so | can’'t determine aresidua 8 and therefore, thingsare volatile, | think

9 before | fit theline, there' s no definition 9 that's abit misleading. If I have two
10 of a residual because a residua is the 10 different data sets, but within the same
11 difference between the actual value and my 11 period, I will comeup withtwo different
12 fitted value. Soif | don’t have afitted 12 estimates for that, just like if you ask me to
13 value, | have no residual. So | would suggest 13 determine the average height of the peoplein
14 | would be challenged in having predetermined 14 thisroom and | decide only to use some of the
15 statistical outliersif | haven’'t done my 15 people, | come up with an estimate and then |
16 analysis. | think that’s the cart before the 16 take another group of people and come up with
17 horse, you fit your values and then you 17 another average, | would be surprised if they
18 determine, doing an analysis of the regression 18 werethe same. |I’m just measuring data and
19 itself and the statistics that come out and 19 averages arejust, | would take all your
20 particularly of theresidualsand determine 20 heights and divide by the number of people |
21 whether or not you feel theremay be an 21 took theheight and | would take another
22 outlier and then you test to see whether or 22 average. That doesn't mean that the actual
23 not again that outlier isinfluential to your 23 underlying average heightin the room is
24 outcome. So if we scroll down a little bit 24 somehow volatile, it just meansthat I’'ve
25 more, thisfirst paragraph they describe the 25 decided to take two samples to come up with my
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1 average. My preference, actually, would be to 1 of them together, they come up with a good
2 take alarger sampleand come up with my 2 estimate and that’ s the idea behind the sample
3 samplethat way. If youthink in terms of 3 size. Get abigger sample size and you reduce
4 estimating these parameters, | didn’t use, | 4 your variation of error inyour estimate of
5 think, average is an easy way to kind of think 5 that parameter. So to take smaller
6 about it, if we'retrying to take or estimate 6 subsections of a period where I’m saying | got
7 the average height in this building and we've 7 aparameter | believe that isgoing to stay
8 decided that we can do that by taking a sample 8 constant or I’'mtrying to estimate over this
9 of peopl€’ s heightsin this room and then use 9 eight-year period, | don't estimate that
10 that as an estimate for the average height for 10 parameter by taking a bunch of small averages
11 the entire building. If | wanted to usea 11 of periodsin between that and then average
12 smaller sample than thisroom andsay I'm 12 these things together. | just take the full
13 going to measure you first and come up with an 13 ten-year period because that's my biggest
14 average, then 1'm going to measureyou and 14 sample size that | have available to me. Now,
15 come up with an average, but before | do that, 15 again, if you do believe that the underlying
16 I’m going to decide not to take into account 16 parameter itself has changed, that the trend
17 the really tall people, the really short 17 has changed, then identify the period where
18 people. I'm not sure that’s the best way to 18 you think it haschanged and testto see
19 come up with that initial estimate. Itisa 19 whether or not thereis statistical support
20 way, but | don’t think it’sthe best way. | 20 that there’'s a new parameter and that
21 would rather just take the average of everyone 21 parameter isnow going forward. If there's
22 in thisroom and then say that’s my estimate 22 not statistical support for it, you should
23 and | think it’s reasonable to assume the rest 23 reject it and say there's just one parameter
24 of the building kind of looks like this 24 for atrend over that whole period.
25 population. If you reduce thesize of the 25 STAMP, Q.C.:
Page 162 Page 164
1 sample and you're trying to estimate an 1 Q. Sohow doesthis discussion, how does this
2 overall population average, the smaller the 2 tranglate into your review of the Oliver Wyman
3 sample size, the bigger the error is going to 3 approach that we'relooking at here? You're
4 be between your estimate of the average and 4 saying you take a sample period and a subset
5 the ultimate average. So if you think about 5 of that, are you speaking specifically to what
6 my example here, if wetake half the rooms, we 6 you think they have done in their approach?
7 cal around to half the rooms of this 7 MR. DOHERTY:
8 building, and we ask them to do the same thing 8 A.My understanding of the approach, the end
9 that I’'m doing here, but for half of the rooms 9 godl, | believe we'retrying to find atrend
10 that we ask, they do it the same way, measure 10 parameter that applies to my experience
11 everybody in the room and take an average and 11 period; particularly the five yearsthat I’'m
12 come up with an average height. But for the 12 using in my indication of the accident years
13 other half we say only do that for half the 13 2008to 2012. When | did my analysis on
14 people in the room. Well, if you took the two 14 bodily injury, | had two periods, pre and post
15 setsof rooms then, the onethat--both of 15 2004. Obvioudly the trend parameter post 2004
16 them, | believe, would come up in total with 16 isthe only one that influences my indication
17 an average that’ s pretty close to the overall 17 because that’ s the only one that applies after
18 average of the building. The problem isthe 18 2008. The trend parameter that has been
19 onesthat only used half the size for their 19 estimated by Oliver Wyman is not based
20 sample, when you look at them individually and 20 strictly on that same eight-year period that |
21 compare that to the overall average, they're 21 have. They did a number of different
22 going to be much different overall than the 22 measures, but their goal is to try and
23 onesthat usethe same room. The variance 23 estimate that same parameter, the parameter
24 between their estimate is going to be wider, 24 that appliesto the most recent five years.
25 even though they may come up, when you put all |25 They'vejust taken adifferent approach and
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Page 165 Page 167
1 it'snot one that | think leadsto the best 1 value ayear prior. So if you're looking at
2 estimate of that parameter. And maybeif we 2 2012-H2, you would look at the change from
3 go down alittle bit further, let’s go to the 3 2011-H2 to 2012-H2 and you’'re looking at the
4 time periods we consider, | think it's on the 4 changein that value over that period and they
5 next page. Keep going down please, yeah, next 5 look at all the changes, as| understand it,
6 page. There we go. So the approach obviously 6 and remove the ones that have the highest and
7 we have, | don’t have a pre-determined period 7 lowest. Now thefirst thing when | read that,
8 inmind, | will look at the whole period but 8 thefirst thing | gotoisif | got astraight
9 then | have some standard views, usually based 9 line and most of my datais on that line, but
10 on reform, but other than that one where we 10 | have ahigh valueup here, that’sa big
11 have a standard that’'s really trying to 11 change, but the next periodis alsoa big
12 replicate what we think the regulator review 12 change, it'sa big changein the other way,
13 would look like, we don't have a pre- 13 but it’sjust bringing you back to the line.
14 determined idea of where the parameter might 14 So one data point that had abig change can
15 change, where trends might change over time, 15 actually knock out two data points because the
16 and so going into the process, when | look and 16 one immediately after is automaticaly
17 takea step back and | look at the overall 17 potentially goingto be the one with the
18 processthat isused as | understand it by 18 biggest decrease and so it’s al'so going to be
19 Oliver Wyman where you look at a specific ten- 19 knocked out. Andinfactif youlook at the
20 year period, thenyou look at asubset of 20 results of one of the five-year periods Oliver
21 that, being afive-year period, then you move 21 Wyman used for bodily injury, | believe that
22 back six months, you have another ten-year 22 exact thing happened where the high and the
23 period which in some waysis asubset of the 23 low are both taken out because of the high of
24 first one, there's some overlap there 24 one of the two periods and that will bein one
25 certainly, and then you take a subset of that 25 of the exhibitsthat | bring to your attention
Page 166 Page 168
1 and you comeup with regressions. All of 1 alittle bit later on.
2 those regressions are trying to come up with 2 Now theprocess, | think the biggest
3 the parameter value and then in addition to 3 benefit of this process from somebody who has
4 that, they’ re not just looking at the periods, 4 built actuarial practicesin a number of
5 but before they start the analysis, they’ve 5 organizations, itis very efficientif we
6 aready excluded what they view as statistical 6 believed this process was good at determining
7 outliers, being highs and lows and highs and 7 thetrend parameters. Thisisa fantastic
8 lows being with reference to theloss cost 8 process in terms of efficiency. | can have my
9 being ahigh value or alow value, | think you 9 guys build this process, it would probably
10 can appreciate that before you start, if in 10 take a couple of days, but I’m sure that our
11 fact things are going up, your high values are 11 analysis would end up taking 15 or 20 minutes
12 more likely to come from over here and your 12 to do most of the jurisdictions that we work
13 low values are coming from over there, so if 13 in becauseit’s very mechanical. Y ou identify
14 you exclude them, starting off with 1’m not 14 the outliers upfront, you do four regressions,
15 surethat’sa great thing, likewise if your 15 you get the results out and average it against
16 trend, underlying trend is going down and your 16 the oneyou had before. That's gredt, it's
17 lows are probably at this end and your highs 17 very efficient from aresource standpoint.
18 are probably at that end, you're basically 18 The issue that | have is that it's not
19 removing data points, you're reducing your 19 effective, | believe, at determining what the
20 sample size before you even begin. AndI’'m 20 proper parameter is because you're not doing
21 not sure necessarily if that's appropriate. 21 any analysisto determine whether or not any
22 Now the other nuance in the outlier removal at 22 of the parameters that you've actually
23 the onset, as | understand it, is that 23 determined through the regression is
24 outliers are identified not by their absolute 24 statistically valid and if you can't do that,
25 value, but by their change relative to that 25 then| don’t think you come up with agood
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Page 169 Page 171
1 parameter, which is thewhole ideaof the 1 bodily injury, we didn't exclude seasonality
2 process. 2 because over theperiods that we picked,
3 Now | think the other thing I’m curious 3 seasonality was not a parameter that was
4 about isthat we look at aten-year period and 4 deemed statistically significant. The only
5 afive-year period. I'm not sure why five 5 thing 1I'd have tosay here is that the
6 yearsand ten yearsare predetermined. | 6 comment, "we find that seasonality is
7 don’t know what the basisof that is, again 7 sometimes evident with respect to bodily
8 I’'m not sure that evenif parameters did 8 injury”, depending on the time period
9 change or trends changed every five years or 9 selected, | agree with that. Then they go on
10 every ten years, whenever you're doing this 10 to say that "we take thisinto consideration
11 analysis you're moving it forward six periods, 11 of our review of bodily injury trend
12 so your five-year window keeps changing every 12 patterns’. I’m not really sure how it’s taken
13 analysis, so I’'m not really sure thiswould 13 into consideration, so| don’'t know what
14 capture even if your trends changed once every 14 impact seasonality had in our fina
15 fiveyears. | don’t believethis process 15 selections. When | look through the
16 would capture the parameter change itself. 16 determination, it doesn't appear that, as far
17 Now, down below they did indicate the 17 as| can tell, it was taken into account, but
18 data points we considered. In the second line 18 I’d beinterested to hear how it was actually
19 it starts afive year period, and then they go 19 taken into account andif it had anything
20 to say, can be sensitive to one or two of the 20 like--like | said before, most times with or
21 datapoints. Thisisn't in--and in supporting 21 without seasonality, the slope of thelineis
22 the view that we should be removing outliers, 22 thesame. That isthe trendisthe same,
23 but it works both ways because being sensitive 23 you'rejust not reflecting the saw pattern
24 tooneor two data points means that if you 24 that you might see for seasonality. So, maybe
25 remove the, your result can also be sensitive 25 it has no impact whether or not you included,
Page 170 Page 172
1 tothat. That isstart with all the data that 1 I’m not really sure.
2 you have and then determine whether or not you 2 STAMP,Q.C.:
3 think you should remove one and then test 3 Q. Whenyou did bodily injury, your own analysis,
4 whether or not it’sinfluential. Then you can 4 was there seasonality evident in that, from
5 see whether there’ s any sensitivity to one or 5 your perspective.
6 two of the data points. | don’t believe that 6 MR. DOHERTY:
7 that’ s something you should be doing upfront 7 A.Notinthe period that we chose. The 2004-H 2
8 as part of a mechanical process and 8 to 2012 period, it was--actually over that
9 particularly as | indicated, whenit's not 9 whole regression, it was not.
10 based on the residual itself, but it's based 10 STAMP, Q.C.:
11 on some other metric--so, you're doing it at 11 Q. So, you tested for it, you saw -
12 the onset. 12 MR. DOHERTY:
13 Okay, so | want to move down to--1"m just 13 A. Wetested for it. Now, we tested both for it
14 going to focus on the bodily injury. All this 14 over the full 20 years, the way we split up
15 stuff I’'m going to say really goes back to 15 the data, but we also excluded al the pre-
16 that, but if we just go down, | think it'sa 16 2004 and just focused on the 2004-H2to 2012
17 couple of pages. 17 and it's wasn't evident there. Inone of
18 STAMP, Q.C.: 18 Oliver Wyman's--I think it's actually in the
19 Q. So, page 5 of the report. 19 final report, they did say if you use the
20 MR. DOHERTY: 20 period 2005 to 2012 seasonality is evident.
21 A.MaybeI'll start withthe seasondlity. Asl 21 If you exclude 2004-H2, yeah, the parameter--|
22 mentioned, we also test for seasonality. And, 22 believe the measure of the P vaue is
23 you know, we too, sometimes, in some models 23 something like 7 or 8 percent. If you include
24 it's a parameters we accept, some other ones 24 2004-H2 in our data--if you exclude it,
25 wedidn’'t. In the ones we determined for 25 exclude 2004-H2 so you start at 2005, it drops
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Page 173 Page 175
1 downto 4.2, so we'll probably accept it. The 1 experience between the first and second half
2 issueisthat we didn’t use that period. So, 2 of the year, based on the loss experience we
3 it's likea different model all together. 3 find thisto be reasonable". Is that a
4 That’s not the period that we selected. And 4 seasonality issue?
5 asfar as| know, 2005 to 2012 was not one the 5 MR. DOHERTY:
6 periods that Oliver Wyman used. It's not a 6 A. That would be seasonality. |I’'m not sure what
7 ten-year period, it’snot afive-year period. 7 coveragethat it referring.
8 It doesn’t seem to encompass the periods that 8 STAMP, Q.C.:
9 they actually chose. So, while they 9 Q. That's property damage.
10 introduced that into the report, I’'m not 10 MR. DOHERTY:
11 really sure how that relates to their 11 A. Property damage, okay.
12 selection and it certainly doesn’t relate to 12 STAMP, Q.C.:
13 our selection. 13 Q. So, but I think theindication was that you
14 STAMP, Q.C.: 14 did not find include seasonality in the bodily
15 Q. Waell, I think we're going to cometo that a 15 injury component and | think Oliver Wyman
16 little bit later, inany event. But inthe 16 suggested that they saw seasonality.
17 analysisthat you did, as you say, bodily 17 MR. DOHERTY:
18 injury, you tested for it. 18  A. Apparently in the period where they did 2005
19 MR. DOHERTY: 19 to 2012.
20 A.Yes. 20 STAMP, Q.C.:
21 STAMP,Q.C.: 21 Q. Wedll, we'll come to that alittle bit later
22 Q. Didn’t find seasonality to be evident. 22 again. In Accident Benefits, the report of
23 MR. DOHERTY: 23 Oliver Wyman, on that point, on that coverage
24 A.Yes. 24 discussion, it's inthe second bullet, says
25 STAMP, Q.C.: 25 "FA does not include a parameter to take into
Page 174 Page 176
1 Q. And so you excluded that parameter. 1 the consideration the difference in the loss
2 MR.DOHERTY: 2 experience between the first and second half
3 A Correct. 3 of the year. Based on the loss experience we
4 STAMP, Q.C. 4 find thisto be reasonable". Is that a
5 Q. Now, inproperty damage, for example, was 5 suggestion then that Fa did not take into
6 there a different conclusion? 6 account in Accident Benefits seasonality?
7 MR. DOHERTY: 7 MR.DOHERTY:
8 A. There may have been, I'd have to go back and 8 A.lwould believe so; I'd have to confirm that.
9 takea look. I'm surethat there are some 9 STAMP, Q.C.:
10 coverages whereit is evident and some where 10 Q. No, but that'swhat this appears to be saying.
11 it'snot. 11 MR. DOHERTY:
12 STAMP, Q.C.: 12 A.Yeah
13 Q. Youdhaveto go back to Appendix B to find 13 STAMP, Q.C::
14 that, would you? 14  Q.I'm just trying to understand what this
15 MR. DOHERTY: 15 comment--so, the comment from Oliver Wyman in
16 A.Yes. 16 his report is that in some coverages you
17 STAMP, Q.C.: 17 included seasonality and in some coverage you
18 Q. Okay. In the Oliver Wyman report, and I'll 18 rejected seasondlity.
19 just--without bringing it up for a moment-- 19 MR. DOHERTY:
20 I'll just refer to the property damage 20  A.Correct.
21 discussionin the Oliver Wyman report with 21 STAMP,Q.C:
22 respect to the discussion on your work, | 22 Q. That'strue, isit?
23 guess. The second bullet in Property Damage 23 MR. DOHERTY:
24 says"FA includesa parameter to take into 24 A.Yeah
25 consideration the difference in the loss 25 STAMP, Q.C.:
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Page 177 Page 179
1 Q. Okay. Now, if we moveforwardintheca ow1 1 A.l believe so.
2 Response, thereis a discussion, | guess, 2 STAMP,Q.C.:
3 following the seasonality which ison bodily 3 Q. Andthe strategy or the approach iswe'll take
4 injury. Areyou going there now? 4 thefirst ten-year period ending at a certain
5 MR. DOHERTY: 5 period and it includes 2012-H2 and they’ll
6 A.lwas goingtogo totheir review of the 6 exclude certain data points.
7 bodily injury trends. | just want to go right 7 (1:30 p.m.)
8 to the part where they actually indicate how 8 MR. DOHERTY:
9 they came up--so, | want to focuson that 9 A Yes
10 first part. 10 STAMP, Q.C.:
11 So, again, as | understand, what they’ ve 11 Q. Asyou say, it happensto be four data points,
12 doneisthey’velooked at aten-year period, 12 the two highest and two lowest. So, do you
13 so that's 20 data points ending December 31, 13 interpret that strategy as being one that
14 2001 (sic.). So, you have 20 data points and 14 looks at this analysis after they’ve run the
15 they’ve excluded the two highsand the two 15 regression, drawn the linesor if they just
16 lowsasl - 16 strike it up beforehand.
17 STAMP, Q.C.: 17 MR. DOHERTY:
18 Q. Ending when? 18 A. My understanding is that theoutliers are
19 MR. DOHERTY: 19 removed before they do any analysis. It could
20 A.Sorry? 20 be that they do an analysis withit, | don’t
21 STAMP, Q.C.: 21 know. Reading through thisit looks like the
22 Q. Ending--when does thefirst ten-year period 22 results they’ re producing always exclude these
23 end? 23 highs and lows.
24 MR. DOHERTY: 24 STAMP, Q.C.:
25  A.Thefirst one, | believe, isending December 25 Q. So,you don'tget todo theanalysis with
Page 178 Page 180
1 31, 2012. 1 these highs and lowsin. They’re gone before
2 STAMP,Q.C.: 2 you do the analysis?
3 Q. So, that includes-H2? 3 MR. DOHERTY:
4 MR. DOHERTY: 4 A Asl understandit. Again, they may be doing
5 A.ltdoesinclude-H2, yes. 5 something, none of the results that I’ ve seen
6 STAMP,Q.C.: 6 through here would suggest that they’ve come
7 Q. Okay. 7 up with a parameter based--or they’ ve accepted
8 MR. DOHERTY: 8 a parameter that’sbased on periods that
9 A.So,you start off with 20 data points, but 9 include highs and lows.
10 they excluded two highs and two lows based on 10 STAMP, Q.C.:
11 the percentage changed. So, you' ve eliminated 11 Q. Andare you ableto say particularly, Mr.
12 20 percent of your data points off the top. 12 Doherty, which arethe highsand lows were
13 Again, I'm not sure | understand that 13 excluded for that first ten-year review to get
14 rationale for that. We would be testing for 14 the-1.7.
15 that. Tome, 20 percent reduction in your 15 MR. DOHERTY:
16 sample sizeissignificant. And by doing so, 16 A.l amableto, based on the results. | mean,
17 | think the variance in your parameter 17 certainly they provide the data itself. I'm
18 estimate has increased substantially that adds 18 trying to seeif | haveit here. Just give me
19 the uncertainty of whether or not this isa 19 one second.
20 legitimate fit. 20 STAMP,Q.C.:
21 STAMP, Q.C.: 21 Q. I'mlooking at alittle note you provided me,
22 Q.Andwhen you dothis, | mean, thisis, | 22 but | don’'t know if that’s something you got
23 guess, a strategy or approach that they’ve 23 availableto you.
24 announced there. 24 MR. DOHERTY:
25 MR. DOHERTY: 25  A. Yeah, what the name of the file at the bottom
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Page 181 Page 183
1 there, the very bottom, Jennifer might be able 1 $2,500.00 and that meant some claims -
2 to seeiit. 2 MR. DOHERTY:
3 STAMP,Q.C:: 3 A Painand suffering, yes.
4 Q. ow regression period weights, is that possibly 4 STAMP, Q.C.:
5 it? 5 Q. Yeah, pain and suffering. Some claims would
6 MR. DOHERTY: 6 disappear potentially and others would be
7  A. Sorry, just give me one second. Oh yeah, | 7 reduced by that value. So, you saw that asa
8 got it here. Yes, so as| understand it, the 8 change. What did Oliver Wyman see, can you
9 two low periods for that first one would have 9 say, on that point?
10 been 2003-H1 and 2005-H1 and the highs would 10 MR. DOHERTY:
11 be 2007-H2 and 2011-H2. 11 A.Waell, as| understand it, they--again, it's as
12 STAMP, Q.C.: 12 | understand their approach. Again--this
13 Q. Now, when we go back, when you were discussing 13 isn't again, thisis the first time I'm
14 your own fitted line and the regression 14 emphasizing this, but we don't adjust the
15 anadysis that you conducted, your period 15 data. We take the dataas developed to
16 started when, when the second line was 16 ultimate and then we look at the data and try
17 created. 17 and find different periods. And if thereisa
18 MR. DOHERTY: 18 bifurcation in the periodsand it createsa
19 A.Yeah, sol would have started my second post 19 gap in between the two periods and we affect
20 2004 reform would have been 2004-H2. 20 the slope, if asked, we will say whatever
21 STAMP, Q.C.: 21 caused it, but here’ stheimpact of it. And
22 Q. Okay. And when isthe reform you spoke about? 22 theway we determinethe impact is to just
23 MR. DOHERTY: 23 project from the first one forward one period
24 A. August 2004, so it would be in the 2004-H2. 24 and then compare that to the value that we get
25 STAMP, Q.C.: 25 in the new line. And that tells us whether it
Page 182 Page 184
1 Q. And so when would you--what periods would you 1 went up or down and by how much. And soit’s
2 begin to see that present itself, do you 2 an estimate of the impact of whatever itis
3 think? 3 that caused that change. And | could be wrong
4 MR. DOHERTY: 4 onthis, but as| understand it, and thisis
5  A.lwould expect it to be 2004-H2 and then the 5 another approach that actuarieswill useis
6 first half would be 2005-H1. 6 that if thereif areform that you know about,
7 STAMP, Q.C.: 7 you will adjust the datato account for the
8 Q. Okay, so the 2005-H1 is one of the data points 8 reform so that you don’t have to worry about
9 that’'s excluded. 9 bifurcating the periods. If there are two
10 MR. DOHERTY: 10 different periods, | would keep them astwo
11 A. That'scorrect, as| understand, yes. 11 separate periods, but you can adjust the data
12 STAMP, Q.C.: 12 so that the two of them arelined up. You
13 Q. Now, we'll cometo thisin abit more detail, 13 eliminate that thing before you do the
14 but there wasa discussion on the part of 14 analysis, | guess, conceptually you would
15 Oliver Wyman that they did not see any impact 15 think that, | guess, the underlying thought is
16 in trend from the tort reform or legislation 16 thetrend isthe same pre and post and so
17 in 2004. 17 you're just doing an adjustment. As |
18 MR. DOHERTY: 18 understand, with respect to thereform for
19  A. Correct, | believe that replicated in here as 19 bodily injury, Oliver Wyman does not believe
20 well. 20 there' s an impact. So, asfar as| know there
21 STAMP,Q.C. 21 was no adjustment to the data. And so they
22 Q.You spoke about the deductible being 22 would look at it as | understand it, the trend
23 introduced and the $2,500.00--s0 every claim 23 parameter, | guess, doesn't really change pre
24 that existed from thetime that legislation 24 and post 2004. So, | take that asthe trend
25 camein effect, every claim wasreduced by 25 could be determined based on the full 15 year
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Page 185 Page 187
1 period they have available as presented in 1 top sentence in the top paragraph there that
2 their report, but that’snot what they did. 2 we see onthe screen, which appearsto be
3 So, | don't know why they--if there's no 3 Oliver Wyman'’ s position that underlying trend
4 reform, why they used a ten-year period 4 for bodily injury and accident benefits can be
5 instead of using the full 15-year period, they 5 generated from the ten-year time period.
6 don’'t think the parameter--they don’t think 6 MR. DOHERTY:
7 thetrend parameter itself has changed over 7 A Yes, that'swhat it says.
8 that period. And if they do believe it 8 STAMP, Q.C.:
9 changed, when did it change? And which of 9 Q. lsthat what you seethat he's saying?
10 these ten or five year periods reflects when 10 MR. DOHERTY:
11 it changed and what was the value before the 11 A Yes
12 change and after the change? Those arethe 12 STAMP, Q.C.:
13 types of questions | would have based on this. 13 Q. And for property damagesit looksto melike
14 STAMP, Q.C.: 14 it'sadifferent period, five years.
15 Q. So, canyou say whether Oliver Wyman tested 15 MR. DOHERTY:
16 for the impact of reform? 16 A.Yes
17 MR. DOHERTY: 17 STAMP, Q.C.:
18  A.l don't--1 assumethey did some sort of test 18 Q. What'sbeing said in the next paragraph?
19 because they have in here asserted that there 19 MR. DOHERTY:
20 was no impact. 20 A.As | understand the approach, they would
21 STAMP, Q.C.: 21 estimate a parameter for trend by looking at a
22 Q.Okay. Wdll, I just want to come back to the 22 ten-year period, but they opted as well to use
23 discussion on the time periods which you had 23 a shorter period within that same period, so |
24 just been referring to a moment ago in the 24 guess from my view when I’m trying to estimate
25 Oliver Wyman Ow CA 1,1 guess, it says"In our 25 aparameter, I’ve got a ten year period, I'm
Page 186 Page 188
1 judgment aten-year period isgeneraly a 1 taking, you know, 1’1l go back to my averaging
2 reasonable time period for determining the 2 for the height, so | take the average of these
3 underlying trend rates for the bodily injury 3 people here and come up with an average, but
4 and accident benefits coverages.” And then 4 then | take your average alone. To me, that
5 they say five yearsfor some other features. 5 sounds like re-sampling. | don’t know why |
6 Just goto the second paragraph following 6 would rely on the smaller sasmpleto come up
7 that, can you bring that up? Do you have that 7 with my parameter when I've got an estimate
8 in front of you? 8 from the bigger one. | don’t think that then
9 MR. DOHERTY: 9 averaging these two gives me a better estimate
10 A.I’'mnot driving. 10 of how tall people are in the room on average.
11 STAMP, Q.C.: 11 STAMP, Q.C.:
12 Q. I'mlooking for the Oliver Wyman Report, it’s 12 Q. So when you come back to the four test periods
13 CA OW 1 response. 13 now, which is two pages or so beyond where we
14 MS. GLYNN: 14 are.
15 Q. Yes 15 CHAIRMAN:
16 MR. DOHERTY: 16 Q. Mr. Stamp, it's 1:40, we were supposed to
17 A.Yes, it'sthat report, I’'m not sure--what page 17 break at 1:30. Isthere anatural -
18 areyou looking at? 18 MS. GLYNN:
19 STAMP, Q.C.: 19 Q. Wedid have some discussion of maybe pushing
20 Q.I’'mon page 4 of that report. 20 on, but | don't know where Mr. Stamp isin
21 MR. DOHERTY: 21 regards to cluing up.
22 A.Youmight havetogo downone morebecause |22 STAMP,Q.C.:
23 they start - 23 Q.1 would certainly like to push on, Mr.
24 STAMP,Q.C.: 24 Chairman and Commissioners, if | may. | won't
25 Q. Thereyougo. Sol'mjustreferring to the 25 be finished by 2:00.
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Page 189 Page 191
1 CHAIRMAN: 1 December--1 guess December 31st, 2012.
2 Q. Pardon? 2 MR. DOHERTY:
3 STAMP, Q.C.: 3 A.Correct.
4 Q. will not be finished by 2:00. 4 STAMP, Q.C.
5 CHAIRMAN: 5 Q. But leaving out some data points. Is the next
6 Q. Yeah, but you want to push on. 6 period a subset of that?
7 STAMP,Q.C:: 7 MR. DOHERTY:
8 Q. I'dliketo. 8 A.Yes It'safive-year period, so -
9 MS. GLYNN: 9 STAMP, Q.C.:
10 Q. Doyou have any ideaof how much longer you 10 Q. The most recent five years of that?
11 may be? | mean, if wegoto 2:00, areyou 11 MR. DOHERTY:
12 still - 12 A.Yes, but those five years are within the first
13 STAMP, Q.C:: 13 ten-year period.
14 Q. OhI'm till going to be undone. 14 STAMP, Q.C.:
15 MS. GLYNN: 15 Q. But now only leaving out one data point.
16 Q. Any idea how much time you will take tomorrow? 16 MR. DOHERTY:
17 STAMP, Q.C.: 17 A. Two data points, a high and alow.
18 Q.| hateto say this, but perhaps an hour and a 18 STAMP, Q.C.:
19 half. 19 Q. Yeah, but not four, it'shalf of the data
20 CHAIRMAN: 20 points left out before, and again, isthis,
21 Q. Soyou'vegot an hour and a half left to go. 21 you know, a guess aformulafor doing it as
22 STAMP, Q.C.: 22 opposed to an analysis?
23 Q. | think and perhaps being conservative. 23 MR. DOHERTY:
24 CHAIRMAN: 24 A. My understanding isthat it's aformula.
25 Q. You'renot noted for that. | think maybe we 25 STAMP, Q.C.:
Page 190 Page 192
1 should probably adjourn and you can finish 1 Q. Okay, andthen we come to the second two
2 tomorrow. | mean, it is 1:40. Do you 2 groups, it's aten-year and afive-year again,
3 violently object if we adjourn now. 3 but they are dightly different, are they?
4 STAMP, Q.C.: 4 MR. DOHERTY:
5 Q. Ohno, no, Mr. Chairman. 5 A.Yeah, they end six monthsbefore the two
6 MS. GLYNN: 6 periods above.
7 Q. Did you have a point to finish before - 7 STAMP, Q.C.:
8 CHAIRMAN: 8 Q. Okay, so each of those analysisreveals a
9 Q. I mean, I'm sorry, yes, areyou--is therea 9 percentage?
10 trend you have to finish. Excuse the terrible 10 MR. DOHERTY:
11 pun. 11 A.Yes, sothey eachreveal an estimate of the
12 STAMP, Q.C.: 12 underlying trend parameter.
13 Q. Quiteahit of trend | haveto finish. But 13 STAMP, Q.C.:
14 perhaps we can just wrap up this point, if | 14 Q. How, for example, doesthe minus 1.7 percent
15 can, if that’s okay. 15 relate to anything that you've donein terms
16 CHAIRMAN: 16 of the period?
17 Q. Sure, yes. 17 MR. DOHERTY:
18 STAMP, Q.C.: 18 A. Sowedid frequency and severity, our eight-
19 Q. So, Mr. Doherty, at the top of page 6 which 19 year period for bodily injury is for an
20 you have there now, we have four periods that 20 annualized trend of 4.4 percent.
21 are being, | guess, analyzed by Oliver Wyman. 21 STAMP, Q.C.:
22 MR. DOHERTY: 22 Q. Okay.
23 A.Yes. 23 MR. DOHERTY:
24 STAMP, Q.C.: 24  A.l believewhat they'retryingtodo hereis
25 Q. Andthefirst ten-year period happensto end 25 estimate a parameter for loss costs that would
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Page 193 Page 195
1 be comparable to our selection of 4.4. 1 coefficient, it's minus 1.7 percent. That
2 They're just using different periods than what 2 doesn’t mean it'sagood fit, it doesn’t mean
3 we've used, but they areusing, again they 3 that you should accept that or the alternative
4 appear to be re-sampling because they’ re doing 4 isto say you shouldn’t use this coefficient
5 regressions on different pieces. 5 at al because our test for it suggests that
6 STAMP, Q.C.: 6 you' re better off picking zero because you're
7 Q. Soam| looking at--do you understand that I'm 7 generating something that is more like to have
8 looking at a regression result for four 8 come just from random variation in the
9 periods? 9 residuals themselves. | don't have any
10 MR. DOHERTY: 10 statistical information about any of these
11 A Yes 11 regressions, but the only thing that | would
12 STAMP, Q.C.: 12 suggest again isthat at least for each of
13 Q. With certain exclusions. 13 those periods, thefive-year period is a
14 MR. DOHERTY: 14 sample of the ten-year period and I’'m not sure
15 A.Yes 15 | understand why you would do a regression
16 STAMP, Q.C.: 16 unless you thought there was achange. Over
17 Q. And the regression result is those four 17 the ten-year period | guess |I’'m seeing minus
18 percentages at the end of those lines? 18 1.7, perhaps the regression statistics suggest
19 MR. DOHERTY: 19 that yeah, that’s avalue period and 1.7 is
20 A.Those are the estimates of the parameters. 20 actually statistically significant. Now my
21 The underlying parameter for trend. 21 second one says it’s not quite as much. Okay,
22 STAMP,Q.C.: 22 well does that mean that this oneis steeper?
23 Q. Yesthat'sthetrend rate, isit that they're 23 Arethere two distinct periods or are you
24 seeing? 24 saying there just happens to be another period
25 MR. DOHERTY: 25 over here and | can till use aten-year with
Page 194 Page 196
1 A.Yes, that' stheir estimate of what that trend 1 the fiveyear, that doesn’'t sit with me.
2 rateis. 2 Either you have two periods or you have one
3 STAMP, Q.C.: 3 period and what are thefitsonthat. Sol
4 Q. And that effectively compares to your 4.4 4 don't have any of that information from the
5 percent for bodily injury? 5 details that are available here. Now | did do
6 MR. DOHERTY: 6 my own on this, but | don’t think we want to
7 A.Asl understand it, yes. 7 get into that day.
8 STAMP, Q.C.: 8 STAMP, Q.C.:
9 Q. Okay, and so then do you make any--or can you 9 Q. Okay, no. So, Mr. Chairman, if that's a
10 make any analysis of which of these regression 10 convenient time now, we'll leave that and come
11 resultsis, | guess, the best fit? 11 back tothis piece tomorrow morning first
12 MR. DOHERTY: 12 thing.
13 A.There’ snodata provided onthe fit metrics 13 CHAIRMAN:
14 themselves, there's no data provided on 14 Q. So we're adjourned now until tomorrow morning
15 whether or not you would accept the period 15 at 11:30, isthat correct?
16 itself or that the, youwould effectively 16 MS. GLYNN:
17 reject the nul hypothesis. So for instance, 17 Q. Eleven.
18 inthe first period you donea regression, 18 CHAIRMAN:
19 you've doneasimply calculation, again, you 19 Q. Eleven, oh sorry, okay, all right. Thank you.
20 candoitin Excd, it will comeup with an 20 STAMP,Q.C.:
21 answer. It tellsyou, you know, you asked me 21 Q. Thank you.
22 to determine thisleast squares estimate for 22 Upon concluding at 1:46 p.m.
23 this period, excluding those two highs and two
24 lows, so you give me 16 data points and with
25 those 16 data points | can determine a
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1 CERTIFICATE
2 1, Judy Moss, hereby certify that the foregoing isatrue
3 and correct transcript inthe matter of a Facility
4 Association Application re: Taxi and Limousine Automobile
5 Insurance Rates heard on the 5th day of November, 2014
6 before the Board of Commissioners of Public Utilities,
7 120 Torbay Road, St. John's, Newfoundland and L abrador
8 and was transcribed by meto the best of my ability by
9 means of a sound apparatus.
10 Dated at St. John's, Newfoundland and L abrador
11 this5th day of November, A.D., 2014
12 Judy Moss
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